ISO/TS 16949:2009
CERTIFIED

CALIPER
REPAIR KITS

KNORR MERITOR

ACCESS THE HOME PAGE



Caliper Repair Kits

>~

g
an A

I

Company Profile

Dopre Brakes Co., Ltd. have been specialized in
manufacturing caliper repair kits and air brake disc
assembly, which are applied to heavy-duty commercial
vehicles, such as trailers and trucks.

According to TS16949 quality system, Dopre have
highly professional technician teams, dedicated
machines and scientific management.They continue to
develop products of series including Knorr, Meritor,
Wabco, Haldex to satisfy clients from European,
America, Asian and other countries.

All the time, Dopre Brakes aim to sincere, pragmatic,
optimistic and cooperative attitude and spirit in the
market. And they stick to professional quality
promotion, design innovation and efficient working to
serve for all the clients.

Dopre brakes sincerely welcome everyone to visit our
factory.

Brakes & Safety System
Do precision in caliper repair kits

WWW.DOPREBRAKES.COM



— _ —
T

—_—

V e ’ ' Caliper Repair Kits

PRODUCTS SERIES

& KNORR TYPE CALIPER B

| | | | | / |

SB5 SERIES SB6/SB7 SERIES ~ SN5SERIES SN6/SN7/SERIES SK7/SERIES  SL7/SM7 SERIES /AIR BRAKE DISC

ASSEMBLY
@ MERITOR TYPE CALIPER B
D3 SERIES LISA SERIES DUCO SERIES ELSAL SERIES DX SERIES
ELSA2 SERIES
ELSA195/225 SERIES
& WABCO TYPE CALIPER B
PAN17 SERIES PAN19-1/22-1 SERIES ~ PAN19-2/22-2 SERIES MAXX 22 SERIES

@ HALDEX TYPE CALIPER b

v v

MODUL X-GEN 1 SERIES MODUL X-GEN 2 SERIES MARK II-II (2-3) SERIES ~ MARKIV (4) SERIES

WWW.DOPREBRAKES.COM WWW.DOPREBRAKES.COM



SB5

Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SB5

DP NO. K20001
Caliper Set

DP NO. K20002
Caliper Bridge Assembly

DP NO. K20003
Caliper Tappet & Boot Kit

. 7430 M
. (Y
5
J.‘x:lu:-?
3 y 2
. 4

——,

{ £

PART NO. DP NO. DESCRIPTION DIMENSION aTty

1 KA0002 Adjusting Mec@sm iﬂ’ﬂ'_ 1
2 K10008  |Guide Pinion/Gear 1
3 K20002 Caliper Bridge Asaembli;‘i__ 1
4 K10035 Brake Lever 1
5 K10036 Raoller Bearing 1
6 K10042  |Caliper Chain 12 Link 1
7 K20004  [Caliper Tappet & Boot Kit Q ATa3mm 1
8 K10080  |Caliper Calibration Boit 3Tfiread 1
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10021 Caliper Bridge 1
2 K10013 Spring 2
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K10083 Tappet&Boot Assembly 74.30 mm 1
2 K10087 Inner Seal 1
3 K10088 Inner Boot (Red) 1
4 K10090 Quter Boot(Black) 1
5 K10099 Bush 18x16x10 1
6 K10093 Caliper Pin Rubber Bush 40%34%50 1
7 K10109 Outer Boot Clip 1
8 K10110 Pin Boot Ring 49%36x5 1

DP NO. K20004
Caliper Tappet & Boot Kit

1 2

74.30 MM 3

»,

9. 1Exl6xl0

3

DP NO. K20005
Caliper Tappet Kit

7430 MM ) 2

2

DP NO. K20006
Caliper Pin Cap Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K10083  |Tappet&Boot Assembly 74.30 mm 1
K10087  |Inner Seal 1
K10099 Bush 18x16x10 1

PART NO. DP NO. DESCRIPTION DIMENSION QTY
1 K10083 Tappet&Boot Assembly 74.30 mm 1
K10099 Bush 18x16x10 1

PART NO. DP NO. DESCRIPTION DIMENSION QTY
| 1 K10103 Fin Cap 1
2 K10088 Inner Boot (Red) 1
N 3 K10113 Fin Cap © Ring 1
4 K10110 Fin Boot Ring 49x36x5 1




SB5 Knorr Caliper Repair Kits

DP NO. K20007 DP NO. K20009

Knorr Caliper Repair Kits SB5

Caliper Pin Boot Kit Caliper Pin Cap Kit
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10088 Inner Boot (Red) 1
2 K10110 Pin Boot Ring, 49%36x5 1
S
1 2

PART NO.

DP NO.

DESCRIPTION DIMENSION QTy

DP NO. K20010
Caliper Guides & Seals Repair Kit

DP NO. K20008

Caliper Pin Cap Kit

PARTNO. DP NO. DESCRIPTION DIMENSION aTty

1 K10103  |Pin Cap ;
2 K10113  |Pin Cap O Ring 1

1 K10090 Outer Boot(Black) 1
2 K10109 Outer Boot Clip 1
PART NO. DP NO. DESCRIPTION DIMENSION QTyYy
1 K10069 Guide Pin 34xB0 mm 1
2 K10072 Guide Pin 36x145 mm 1
3 K10077 Pin Bolt 85 mm/ 16x1,5 1
4 K10079 Pin Bolt 50 mm [/ 16x1,5 1
5 K10088 Inner Boot (Red) 1
& K10090 Quter Boot(Black) 1
7 K10097 Pin Bush 40x36x82 1
8 K10093  |Caliper Pin Rubber Bush 40%34x50 1
9 K10109  |Outer Boot Clip 1
10 K10110  |Pin Boot Ring 3B8x31x9 1

DP NO. K10009

Guide Pinion Gear

DP NO. K20025 DP NO. K20026 DP NO. K10080

Caliper Body Cap Set Rubber Cover Set Caliper Calibration Bolt 3Thread

|

DP NO. K10036

Roller Bearing

|

DP NO. K10042

Caliper Chain 12 Link




SB5

DP NO. K20011
Caliper Guides & Seals Repair Kit

Knorr Caliper Repair Kits

DP NO. K20012
Caliper Rubber Bush & Guide Repair Kit

Knorr Caliper Repair Kits

DP NO. K20013
Caliper Boot & Pin Repair Kit

PART NO. DP NO.

DESCRIPTION

SB5

DIMENSION

QTy

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10072  |Guide Pin 36x145 mm 1
2 K10079  |Pin Bolt 150 mm / 16x1,5 1
3 K10088  |Inner Boot (Red) 1
4 K10080  |Outer Boot(Black) 1
5 K10109 Quter Boot Clip 1
6 k10110 |Pin Boot Ring )38x31x9 1
7 K10097  |Pin Bush 40x36x82 1
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K10069 Guide Pin 34x80 mm 1
2 K10077 Pin Bolt 85mm/ 16x1,5 1
3 K10093 Caliper Pin Rubber Bush 40x34x50 1

DP NO. K10035

Brake Lever

DP NO. K10052

Caliper Plastic Cover Without Sensor

DP NO. K10053

Caliper Plastic Cover 2 Cables

1 K10103 Fin Cap 6
2 K10109 Outer Boot Clip ]
3 K10090 Outer Boot(Black) 6
4 K10113 Fin Cap O Ring ]
Caliper Rubber Bush & Guide Repair Kit
PART NO. DP NO. DESCRIPTION DIMENSION QTyYy
1 K10069 Guide Pin 34xB0 mm 1
2 K10093  |Caliper Pin Rubber Bush 40%34x50 1

Caliper Plastic Cover 3 Cables

DP NO. K10054

DP NO. K10002
Adjusting Mechanism Shaft

DP NO. K10007

Adjusting Mechanism Gear




SB5 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB5

DP NO. K20015 DP NO. K20018

Pin Set Pin Set

PAR O DP NO D D D O Q DP NO. DESCRIPTION DIMENSION QaTy
1 K10068  |Guide Pin 32x80 mm 1 K10096  |Caliper Pin Rubber Bush 35mm 1
2 K10071 Guide Pin 36x114 mm 1 2 K10068  |Guide Pin 32x80 mm 1
7 3 K10076  |Pin Bolt 80 mm / 16x1,5 1 1
¥ § 4 K10077  |Pin Bolt 85 mm / 16x1,5 1
% " W 5 K10088 |Inner Boot (Red) 1
s \ - S 3 K10096  |Caliper Pin Rubber Bush 35mm 1 4
& A as = 7 K10087 _|Pin Bush x62 1 -
\ o =» 8 K10103  |Pin Cap 1
: i é b 9 K10110  |Pin Boot Ring 31x0 1 vy
0 K10107  |Guide Pin Bold Ring 1 :
11 K10113  |Pin Cap O Ring 1

DP NO. K20016

Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy

KA0068 Guide Pin 32%80 mm 1
K10071 Guide Pin 36x114 mm 1
KA0076 Pin Bolt 80 mm / 16x1,5 1
KA0077 Pin Bolt 85 mm / 16x1,5 1
K10096 Caliper Pin Rubber Bush 35mm 1
K10107 Guide Pin Bold Ring 1
DP NO. K20017 @
Pin Set 0
4

[+ RS I R L

PART NO. DP NO. DESCRIPTION DIMENSION aTy

K10096 Caliper Pin Rubber Bush 35mm
K10068 Guide Pin 32%80 mm
K10076 Pin Bolt 80 mm / 16x1,5
K10107 Guide Pin Beld Ring

SRR

]




SNS5 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SN5

DP NO. K20019 DP NO. K20021

Caliper Set Caliper Piston Repair Kit
PARTNO. DPNO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTyY
1 KA0003 Adjusting Mechm 1 1 K10084 Tappet&Boot Assembly 69.20 mm 1
2 KA0008 Guide Pinion Geand 1 2 K10086 Inner Seal 1
3 K20020 _ |Caliper Bridge Assembly Set 1 3 K10088  |Inner Boot (Red) 1
4 K10034 Brake Lever 1 4 K10080 Quter Boot{Black) 1
5 K10038 Raoller Bearing 1 5 K10099 Bush 18x16x10 1
6 K10041 Caliper Chain 4 14 Link 1 5] K10083 Caliper Pin Rubber Bush 40x34x50 1
7 K20023 Caliper Piston Repair Kit ) 1 7 K10109 Quter Boot Clip 1
8 K10080 Caliper Calibration Bolt ﬁ_hread 1 8 K10110 Pin Boot Ring 38x31x8 1

DP NO. K20022
Caliper Piston Repair Kit

PARTNO. DP NO. DESCRIPTION DIMENSION aTty PART NO. DP NO. DESCRIPTION DIMENSION aTty

DP NO. K20020

Caliper Bridge Assembly

1 K10020  |Caliper Bridge 1 T 1 K10084 Tappet&Boot Assembly 69.20 mm 1
1 2 K10013  |Spring 2 — 2 K10086  |Inner Seal 1
3 K10099  |Bush 18x16x10 1

& 18216210
2

DP NO. K20025 DP NO. K10041 DP NO. K10080 DP NO. K10003 DP NO. K10007 DP NO. K10034
Caliper Body Cap Set Caliper Chain 14 Link Caliper Calibration Bolt 3Thread Adjusting Mechanism Shaft Adjusting Mechanism Gear Brake Lever




SNS5 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SN5

DP NO. K10055 DP NO. K10056 DP NO. K10057
Caliper Plastic Cover Without Sensor Caliper Plastic Cover 2 Cahles Caliper Plastic Cover 3 Cables

DP NO. K20023
Caliper Piston Repair Kit

PARTNO. DP NO. DESCRIPTION DIMENSION Qty
2930 MM 1 K10084  |Tappet8Boot Assembly 69.20 mm 1
2 K10099  |Bush 18x16x10 1

Ve

b -18x16x10
2

DP NO. K10115

Seal

DP NO. K20024
Pin Set

PARTNO. DP NO. DESCRIPTION DIMENSION aTty

1 K10066 Guide Pin 29,8x71,5 mm 1
2 K10067 Guide Pin 30x99 mm 1
3 K10075  |Pin Bolt 75 mm / 16x1,5 1
4 K10078  |Pin Bolt 105 mm / 16x1,5 1
5 K10089  |Inner Boot (Red) 2
6 K10098  |Pin Bush 34x30x65 1
7 K10101 Bush 34x30x20 1
8 K10106 Pin Cap 34x14 2
9 K10111 Pin Boot Ring 38x31x9 2

DP NO. K10038 DP NO. K10008

Roller Bearing Guide Pinion Gear

“'
’l\

DP NO. K10045
Caliper Cover

da4841




SB6SB7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits SB6SB7

DP NO. K20004
Caliper Tappet & Boot Kit

DP NO. K20006
Caliper Pin Cap Set

PART NO. DP NO. DESCRIPTION DIMENSION QTy

PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10083  |Tappet&Boot Aﬁ"nb!! /7 74.30 mm 1 1 K10103 Pin Cap 1
1 2 K10087 Inner Seal 1 2 K10088 Inner Boot (Red) 1
3 K10099 Bush 18x16x10 1 1 2 3 K10113 Pin Cap O Ring 1
4 K10110 Pin Boot Ring 49x36%5 1

DP NO. K20005
Caliper Tappet Kit

DP NO. K20007

Caliper Pin Boot Kit
PARTNO. DP NO. DESCRIPTION DIMENSION aTy PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10088  |Inner Boot (Red) 1
1 K10083  |Tappet&Boot Assembly 74,30 mm 1 2 K10110 _ |Pin Boot Ring 29365 3
2 K10099  [Bush 18x16x10 1

DP NO. K20025 DP NO. K10080 DP NO. K10001 DP NO. K10004

DP NO. K10005 DP NO. K10007
Caliper Body Cap Set Caliper Calibration Bolt 3Thread Adjusting Mechanism Shaft

Adjusting Guide Pinion Shaft Adjusting Guide Pinion Shaft Adjusting Mechanism Gear




SB6SB7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB6SB7

DP NO. K20008 DP NO. K20009
Caliper Pin Cap Kit Caliper Pin Cap Kit

PART NO. DP NO. S DESCRIPTION DIMENSION PARTNO. DP NO. DESCRIPTION DIMENSION
1 K10103  |PinCap y 4 P 1 1 K10090  |Outer Boot(Black) 1
2 k10113 |PincapORingl & 1 2 K10108  |Outer Boot Clip 1
() —
k ) O T
e—
1 2 1 2

DP NO. K20010

DP NO. K20011
Caliper Guides & Seals Repair Kit

Caliper Guides & Seals Repair Kit

PARTNO. DPNO. DESCRIPTION DIMENSION QTy .- 1| PARTNO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10072 Guide Pin 36x145 mm 1 1 K10069 Guide Pin 34x80 mm 1
2 K10079 Pin Bolt 150 mm / 16x1.5 1 2 K10072 Guide Pin 36x145 mm 1
7 3 K10088  |Inner Boot (Red) 1 3 K10077  |Pin Bolt 85 mm / 16x1,5 1
: 4 4 K10090  |Outer Boot(Black) 1 4 K10079  |Pin Bolt 50 mm / 16x1.5 1
5 K10109  |Outer Boot Clip 1 5 K10088  |Inner Boot (Red) 1
6 K10110  |Pin Boot Ring 38x31x9 1 5] K10090  |OQuter Boot(Black) 1
7 K10097 Pin Bush 40%36x82 1 7 K10097 Pin Bush 40x36x82 1
] K10093  |Caliper Pin Rubber Bush 40%34x50 1
] K10109 Quter Boot Clip 1
10 K10110 Pin Boot Ring 38x31x9 1

DP NO. K10017 DP NO. K10026 DP NO. K10027 DP NO. K10028 DP NO. K10029 DP NO. K10036

Caliper Bridge Brake Lever 0°,114mm Brake Lever (°,127mm Brake Lever 12°,123mm Brake Lever Roller Bearing




SB6SB7 Knorr Caliper Repair Kits

DP NO. K20012
Caliper Rubber Bush & Guide Repair Kit

Knorr Caliper Repair Kits

DP NO. K20014
Caliper Rubber Bush & Guide Repair Kit

SB6SB7

PART NO. DPNO. DESCRIPTION DIMENSION PART NO. DP NO. DESCRIPTION DIMENSION
1 KA10069 G de | in __ PV N 34x80 mm 1 1 K10069 Guide Pin 34x80 mm 1
K10077 Pin Bolt y s B5 mm / 16x1,5 1 2 K10093 Caliper Pin Rubber Bush 40x34x%50 1
K10093  |Caliper Pin Ribbér Bush / Y 40%34x50 1
DP NO. K20013 DP NO. K20015
Caliper Boot & Pin Repair Kit Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QTyY PART NO. DP NO. DESCRIPTION DIMENSION QaTy
1 K10103  |Pin Cap 6 K10068  |Guide Pin 32x80 mm 1
2 K10109 Outer Boot Clip 6 2 K10071 Guide Pin 36x114 mm 1
3 K10090 | Quter Boot(Black) 8 - ’% 3 K10076  |Pin Bolt 80 mm [ 16x1.5 1
4 K10113  |Pin Cap O Ring 8 2 e 4 K10077  |Pin Bolt 85 mm / 16x1.5 1
§ Q 5 K10088  |Inner Boot (Red) 1
mi§\ -, 8 K10096  |Caliper Pin Rubber Bush 35mm 1
‘ . = aﬁ = 7 K10087  |Pin Bush 40x36x82 1
- \ 8 K10103  |Pin Cap 1
w" "@ by 9 K10110 _|Pin Boot Ring 3843129 1
10 K10107  |Guide Pin Bold Ring 1
11 K10113  |Pin Cap O Ring 1

DP NO. K10040
Caliper Chain29 Link

DP NO. K10047

Caliper Plastic Cover 2 Cables

DP NO. K10046

Caliper Plastic Cover 3 Cables

DP NO. K10048

Caliper Plastic Cover Without Sensor

DP NO. K10058

Caliper Plastic Cover Without Sensor

DP NO. K10059

Caliper Plastic Cover 2 Cables




SB6SB7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB6SB7

DP NO. K20016
Pin Set

DP NO. K20027
Caliper Set

BARENO. oL — RESGRIEFION D'ES'ON PART DP NO. DESCRIPTION DIMENSION QTy
1 K1 8 G Pin 2x80 mm 1
2 K10071 Guide Pin 36x114 mm 1 1 K10001 Adjusting Mechanism Shaft 1
3 K10076 |PinBolt 4 < 1 80 mm / 16x1.,5 r 2 K10004 _ |Adjusting Guide Pinion Shaft 1
4 K10077 _ |Pin Bolt 85 mm / 16x1.5 1 il ha00at’ _|CaiperBridoa Sel L
5 K10096  |Caliper Pin Rubber Bush 35mm r : :‘0025 :‘a“e ‘:"e’ 0 1dmm 1
m T Y 10036 oller Bearing 1
6 K10107  |Guide Pin Bold Ring 1
D O [ K10040  |Caliper Chain 29 Link 1
7 K20035  |Caliper Dust Rubber Set 1
8 K10080  |Caliper Calibration Bolt 3Thread 1
DP NO. K20017 K20028
Pin Set Caliper Set
PART NO. DP NO. DESCRIPTION DIMENSION aTy PARTNO. DP NO. DESCRIPTION DIMENSION aTy
1 K10096 Caliper Pin Rubber Bush 35mm 1 — .
2 10068 Guide Pin 32580 mm 1 1 KA0001 ad!usti.ng Mev..‘ham_sr.n Shaft 1
3 K10076 Pin Bolt 80 mm / 16x1.5 1 2 K10004 M]Psung f‘.‘:‘wde Pinion Shaft 1
4 K10107 | Guide Pin Bold Ring 1 2 Koot iCeliper Bridge Set 1
| 4 K10028 Brake Lever 12° 123mm 1
5 K10036 Roller Bearing 1
& K10040 Caliper Chain 29 Link 1
| 7 K20035 Caliper Dust Rubber Set 1
& K10080 Caliper Calibration Bolt 3Thread 1
[

DP NO. K20018
Pin Set

DP NO. K

Caliper Set

1 K10096 Caliper Pin Rubber Bush 35mm 1
2 K10068 Guide Pin 32x80 mm 1 1 1 K10001 Adjusting Mechanism Shaft 1
2 K10004 Adjusting Guide Pinion Shaft 1
; - 3 K20031 Caliper Bridge Set 1
4 K10027 Erake Lever 0° 127mm 1
y: . K10038 Roller Bearing 1
$53i - & 10040 Caliper Chain 29 Link 1
1 7 | K20035 Caliper Dust Rubber Set 1
> \ 8 Kﬂ)__@_ Caliper Calibration Bolt 3Thread 1

35 MM




SB6SB7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SB6SB7

DP NO. K20030
Shaft Housing Set

DP NO. K20031
Shaft Housing Set

DP NO. K20032
Caliper Bridge Pin & Ring & Bushing Set

PART NO. DP NO. DESCRIPTION DIMENSION aTty

1 K10017  |Caliper Bridge 1
2 K10014 Spring v 5 @25 x 49 mm 1
3 K10011  |Caliper Bridge Guide Pin/ 1
4 K10012  |Caliper Bridge Guide Pift Clamp 2
5 K10080 _|Caliper Calibration Balt 3Thread 2
6 K10092 Brake Lever Bush 1
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10017 Caliper Bridge 1
2 K10014 Spring @25 x 49 mm 1
3 K10011 Caliper Bridge Guide Pin 1
4 Ki0012 Caliper Bridge Guide Pin Clamp 2
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10011 Caliper Bridge Guide Pin 1
2 Ki0012 Caliper Bridge Guide Pin Clamp 2
3 K10092 Brake Lever Bush 1

DP NO. K20034
Adjusting Mechanism Cap Set 38 mm

DP NO. K20033

Adjusting Mechanism Cap Set 38 mm

DP NO. K20035
Caliper Dust Rubber Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K10015  |Adjusting Mechanism Cap 38mm 10
2 K10114 Shear Adapter 10
3 K10120  |Outer Boot 10
PART NO. DP NO. DESCRIPTION DIMENSION QTY
1 K10015 Adjusting Mechanism Cap 38mm 10
2 K10114 Shear Adapter 10
PART NO. DP NO. DESCRIPTION DIMENSION QTY
| 1 K10083 Tappet&Boot Assembly 74.30 mm 2
2 K10087 Inner Seal 2
A 3 K10099 Bush 18x16x10 2




SB6SB7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB6SB7

DP NO. K20036
Caliper Dust Rubber Set

DP NO. K20040
Pin Set

DESCRIPTION DIMENSION aTy PART DP NO. DESCRIPTION DIMENSION aTy
Tappet&Boot A@nblgn 74.30 mm 2 1 K10087  |Pin Bush 40x36x82 1
Bush 18x16x10 2 2 K10121 Guide Pin 36x135 mm 1
3 K10079  |Pin Bolt 150 mm / 16x1,5 1
4 K10069  |Guide Pin 34x80 mm 1
5 K10077 Pin Boit 85 mm /16x1,5 1
6 K10090  |Outer Boot(Black) 1
7 K10109  |Outer Boot Clip 1
8 K10088 Inner Boot (Red) 1
Q < g K10110  |Pin Boot Ring 49%36x5 1
2 L8cialo 10 K10093  |Caliper Pin Rubber Bush 40x34x50 1
DP NO. K20037 DP NO. K20039
Caliper Dust Rubber Set Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy PART DP NO. DESCRIPTION DIMENSION QTY
1 K10088 Inner Boot (Red) 1 1 K10069 Guide Pin 34x80 mm 1
2 KA0090 Outer Boot(Black) 1 2 K10071 Guide Pin 36x114 mm 1
3 K10093 Caliper Pin Rubber Bush 40%34%50 1 i "§ 3 K10077 Pin Bolt 85 mm / 16x1,5 2
4 K10109 Outer Boot Clip 1 "%&\ 4 K10088 Inner Boot (Red) 1
5 K10110 Pin Boot Ring 49%36x5 1 3 ; - & 5 K10097 Fin Bush 40x36x82 1
6 K10083 Tappet&Boot Assembly 7430 m 2 "“ﬁu \ . & K10093 Caliper Pin Rubber Bush 40x34x50 1
7 K10099 Bush 18x16x10 2 - s % * ‘4 7 K10103 Fin Cap 1
\ oo 8 K10110  |Pin Boot Ring 49%36x5 1
1 ' 9 K10113  |Pin Cap O Ring 1
, ~ - =
| :
exi6x10 7

DP NO. K20038
Caliper Pin Cap Set

DP NO. K20041
Pin Set

DP NO. DESCRIPTION DIMENSION aTy PARTNO. DP NO. DESCRIPTION DIMENSION aTy

\K10093 Caliper Pin Rubber Bush 40 34x50
| K10109 Cuter Boot Clip
KQ‘_{,‘&&._ Pin Boot Ring 49x36x5

1 K10090  |Outer Boot(Black) 1 1 K10121 Guide Pin 36x135 mm 1

2 Ki0114 Shear Adapter 2 K10069 Guide Pin 34x80 mm 1

3 K10088  |Inner Boot (Red) 1 N 3 K10097 Pin Bush 40%36x82 1

4 K10109 Cuter Boot Clip 1 4 K10090 Quter Boot(Black) 1

3 5 K10110  |Pin Boot Ring 49x36x5 1 A5 ), K10088 Inner Boot (Red) 1
& 1

7 1

8 1




SB6SB7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SB6SB7

DP NO. K20042
Dust Rubber Set & Pin Set

DP NO. K20043

Pin Set

1
36x114
X
2
3 \

DP NO. K20044
Pin Set

1 5

36x135,

DESCRIPTION

NO. DPNO. DIMENSION QTy
4 K10083 _|Tappet&Boot Assembly. 74.30 mm 2
2 K10099  |Bush v N 18x16x10 2
3 K10087 Inner Seal 2
4 K10090  |Outer Boot(Black) o 1
5 K10109  |Outer Boot Clip 1
6 K10113 Pin Cap O Ring Y 9 1
7 K10103 Pin Cap 1
8 K10097  |Pin Bush 40x36x82 1
9 K10093  |Caliper Pin Rubber Bush __ADx34x50 1
10 K10088  |Inner Boot (Red) 1
11 K10110  |Pin Boot Ring ?&'&:5 1
12 K10015  |Adjusting Mechanism Cap | 38mm 1

DESCRIPTION DIMENSION QTy
1 K10071 Guide Pin 36x114 mm 1
2 KA0OT7 Pin Bolt 85 mm / 16x1,5 1
3 KA0069 Guide Pin 34x80 mm 1
4 KA0OT7 Pin Bolt 85 mm / 16x1,5 1
5 K10093 Caliper Pin Rubber Bush 40x34%50 1

RTNO. DP NO. DESCRIPTION DIMENSION QTy
1 Ki0121 Guide Pin 36x135 mm 1
2 KA0079 Pin Bolt 150 mm / 16x1,5 1
3 K10069 Guide Pin 34x80 mm 1
4 KA0077 Pin Bolt 85 mm / 16x1,5 1
5 K10093 Caliper Pin Rubber Bush 40x34x%50 1

DP NO. K20045
Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K10072 Guide Pin 36x145 mm 1
2 K10079  |Pin Bolt 150 mm / 16x1,5 1
1 5 3 K10069  |Guide Pin 34x80 mm 1
236”45 4 K10077  |Pin Bolt 85 mm/ 16x1,5 1
5 K10093  |Caliper Pin Rubber Bush 40%34x50 1
~N
DP NO. K20046
L]
PART DP NO. DESCRIPTION DIMENSION QTy
1 K10068 Guide Pin 32x80 mm 1
2 K10071  |Guide Pin 36x114 mm 1
3 K10076  |Pin Bolt 80 mm / 16x1,5 1
4 K10077  |Pin Bolt 85 mm / 16x1.5 1
5 K10088 Inner Boot (Red) 1
& K10094 Caliper Pin Rubber Bush 39 mm 1
7 K10097  |Pin Bush 40x36x82 1
8 K10103  |Pin Cap 1
9 K10110  |Pin Boot Ring 49%36x5 1
10 K10107  |Guide Pin Bold Ring 1
11 K10113  |Pin Cap O Ring 1
DP NO. K
Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QaTy
4 K K10097  |Pin Bush 40x36x82 1
2 K10121  |Guide Pin 36x135 mm 1
m_‘f I K10079  |Pin Bolt 150 mm / 16x1,5 1
- 4 K10068 Guide Pin 32x80 mm 1
s@ \-—-— =0 5 K10077  |Pin Bolt 85 mm / 16x1,5 1
1 : 6 \K10080  |Outer Boot{Black) 1
3.‘;304 . 8 5 T L K10108 Quter Boot Clip 1
9 8 K10088,  |Inner Boot (Red) 1
\ - s | ki Pin Boot Ring 49x36x5 1
2 39 MM - 10 K10084  |Caliper Pin Rubber Bush 39 mm 1
u 11| k0107 _|Guide Pin Bold Ring 1




SB6SB7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB6SB7

DP NO. K20048
Pin Set

DP NO. K20051
Pin Set

NO. DPNO. DESCRIPTION DIMENSION aTy PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K10087  |Pin Bush 7 40x36%82 1 K10068  |Guide Pin 32x80 mm 1
2 K10072 Guide Pin 4 36x145 mm 1 2 K10094 Caliper Pin Rubber Bush 39 mm 1
3 K10079 Pin Bolt 150 mm / 16x1,5 1
4 K10068 Guide Pin " 4 32x80 mm 1
b K10077 Pin Bolt ,85 mm / 16x1,5 1
6 K10080 Outer Boot(Black) & 9V 1
7 K10109  |Outer Boot Clip | 1 ]
8 K10088  |Inner Boot (Red) - A 1
9 K10110__|Pin Boot Ring 49x36x5 1 1 n
10 K10107 Guide Pin Bold Ring Wb gy 1
11 K10094  |Caliper Pin Rubber Bush I _@‘hm 1
DP NO. K20049 DP NO. K20052
Pin Set Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy DP NO. DESCRIPTION DIMENSION QTY
1 K10071 Guide Pin 36x114 mm 1 1 K10087 Pin Bush 40x36x82 1
2 K10077 Pin Bolt 85 mm / 16x1,5 1 1 2 K10071 Guide Pin 36x114 mm 1
3 K10068 Guide Pin 32x80 mm 1 2 . 3 K10077 Pin Bolt 85 mm / 16x1,5 1
4 K10077 Fin Bolt 85 mm / 16x1,5 1 I6x114 \ 4 4 K10103 Pin Cap 1
5 K10094 Caliper Pin Rubber Bush 39 mm 1 ~ ., F 5 K10113 Fin Cap © Ring 1
3] K10107 Guide Pin Bold Ring 1 ] K10088 Inner Boot (Red) 1
39 MM 7 K10110 _ |Pin Boot Ring 493645 1
-
=)
- B
4
Pin Set Pin Set
RTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTY
1 K10094 Caliper Pin Rubber Bush 39 mm 1 K10087 Pin Bush 40x36x82
2 K10068 Guide Pin 32%80 mm 1 K10121 Guide Pin 36x135 mm
3 K10077 Pin Bolt 85 mm / 16x1,5 1 K10079 Pin Bolt 150 mm / 16x1,5
4 K10110 Pin Boot Ring 48x36x5 1 K10080 Outer Boot(Black)

K10109  |Outer Boot Clip
| K10088 Inner Boot (Red)
L K10110 Pin Boot Ring 49365

PR [P R R R R




SB6SB7 Knorr Caliper Repair Kits

DP NO. K20054

$ m (-

10

DP NO. K20055
Pin Set

39 MM

DP NO. K20056
Pin Set

39 MM

NO. DPNO. DESCRIPTION DIMENSION aTy

1 K10087  |Pin Bush 7 40x36%82 1

2 K10072 Guide Pin - 4y 4 36x145 mm 1

3 K10079 Pin Bolt 150 mm / 16x1,5 1

4 K10068 Guide Pin " 4 32x80 mm 1

b K10077 Pin Bolt ,85 mm / 16x1,5 1

6 K10094 Caliper Pin Rubber Bush L 39 mm 1

7 K10090 Outer Boot(Black) 1

8 K10109  |Outer Boot Clip | ] 1

9 K10088  |Inner Boot (Red) 1

10 K10110  |Pin Boot Ring < dox3ERb ) 1
PART NO. DP NO. DESCRIPTION DIMENSION QTy

K10094 Caliper Pin Rubber Bush 39 mm 1

2 K10068 Guide Pin 32%80 mm 1

3 KA0077 Pin Bolt 85 mm / 16x1,5 1
RTNO. DP NO. DESCRIPTION DIMENSION QTy

K10094 Caliper Pin Rubber Bush 39 mm 1

K10068 Guide Pin 32%80 mm 1

Knorr Caliper Repair Kits

DP NO. K20057
Pin Set

SB6SB7

PART DP NO. DESCRIPTION DIMENSION QTy

1 K10071 Guide Pin 36x114 mm 1

2 K10073 Guide Pin 32x84 mm 1

3 K10076 Pin Boit 80 mm / 16x1.5 1

4 K10077 Fin Boit 85 mm / 16x1.,5 1

5 K10088 Inner Boot (Red) 1

] K10091 Outer Boot(Black) 1

7 K10097 Pin Bush 40x36x82 1

8 K10095 Caliper Pin Rubber Bush 39 mm 1

9 K10103 Pin Cap 1

10 K10104 Fin Cap 40x14,5 1

11 K10108 Pin Cap 40x36,5 1

12 K10110 Fin Boot Ring 49x36x%5 1

13 K10112 Pin Boot Ring 1

14 K10113 Fin Cap O Ring 1

K20058

PART DP NO. DESCRIPTION DIMENSION QTY

1 KA0070 Guide Pin 36xE4 mm 1

2 K10071 Guide Pin 36x114 mm 1

3 K10074 Pin Bolt 70 mm / 16x1,5 1

4 K10077 Pin Bolt 85 mm / 16x1,5 1

5 K10088 Inner Boot (Red) 2

] K10087 Pin Bush 40x36x82 1

| 7 K10102 Pin Bush 40x36x20 1

8 K10103 Pin Cap 1

9 K10105 Pin Cap 40x24,5 1

10 K10110 Pin Boot Ring A9x36x%5 2

| 1 K10113 Fin Cap © Ring 1
PART NO. DP NO. DESCRIPTION DIMENSION QTY

|1 1 K10087 Pin Bush 40x36x82 1

2 K10121 Guide Pin 36x%135 mm 1

N 3 K10123 Pin Bolt 140 mm / 16x1,5 1

4 K10124 Guide Pin 34x120 mm 1

. K10122 Pin Bolt 1256 mm / 16x1,5 1

6 \K10117 Rubber Bush({Long) 40 % 34 x 95 mm 1

i 7 L K10118 Inner Boot 1

8 k10148 |Outer Boot(Short) 1

9 m Outer Boot Clip 1




SBSB7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SB6SB7

DP NO. K20060 DP NO. K20065

Caliper Pin Cap Set

NO. DPNO. DESCRIPTION DIMENSION aTy DP NO. DESCRIPTION DIMENSION aTy
1 K10087  |Pin Bush J 40x36x82 1 K10108  |Pin Cap 40x36,5 1
2 K10072  |Guide Pin g & 36x145 mm 1 2 K10109  |Outer Boot Clip 1
3 K10079 Pin Bolt 150 mm/ 16x1,5 1
4 K10124  |Guide Pin " 34x120 mm 1
5 K10122  |Pin Bolt 4125 mm / 16x1,5 1
6 K10117  |Rubber Bush(Long) 4 40%34 x 95 mm 1 =
7 K10090  |Outer Boot{Black) | 1 3
] K10108  |Outer Boot Clip " M ] 1 .
9 K10088 |Inner Boot (Red) 1 1 2
10 K10110__ |Pin Boot Ring b do3eRs 1
DP NO. K20063 DP NO. K20066
Pm SEt PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 10097 Pin Bush A0x36xE2 1 PART NO. DP NO. DESCRIPTION DIMENSION QaTy
2 K10071  |Guide Pin 36x114 mm 1 1 K10087  |Pin Bush A0x36x82 1
3 K10076  |Pin Bolt 80 mm / 16x1,5 1 2 K10071  |Guide Pin 36x114 mm 1
4 K10068  |Guide Pin 34x80 mm 1 3 K10076  |Pin Bolt 80 mm / 16x1,5 1
5 K10076  |Pin Bolt 80 mm / 16x1,5 1 : 4 K10068  |Guide Pin 34x80 mm 1
6 K10068  |Guide Pin 32x80 mm 1 pra 5 K10076  |Pin Bolt 80 mm / 16x1,5 1
7 K10077  |Pin Bolt 85 mm / 16x1,5 1 8 & K10068  |Guide Pin 32480 mm 1
8 K10088 Inner Boot (Red) 1 7 K10094 Caliper Pin Rubber Bush 39 mm 1
9 K10103  |Pin Cap 1 I 8 K10088  |Inner Boot (Red) 1
10 K10093 Caliper Pin Rubber Bush 40x34x%50 1 L] K10110 Pin Boot Ring 49365 1
11 K10104  |Pin Cap 40x14,5 1 10 K10103  |Pin Cap 1
12 K10107  |Guide Pin Bold Ring 1 1 1 K10113  |Pin Cap O Ring 1
13 K10113  |Pin Cap O Ring 1 | 13 12 K10093  |Caliper Pin Rubber Bush 40x34x50 1
14 K10094 Caliper Pin Rubber Bush 39 mm 1 13 K10104 Pin Cap 40x14.5 1
15 K10110  |Pin Boot Ring 40x36x5 1 L y . J 14 K10077  |Pin Bolt 85 mm / 16x1,5 1
DP NO. K20064
Ca“per Pm Ca SEt DP NO. DESCRIPTION DIMENSION QTy
RT NO. DP NO. DESCRIPTION DIMENSION QTyY 1 K10087 Pin Bush 40x36x82 1
K10119  |Outer Boot(Short) 1 L 2 K10121  |Guide Pin 36%135 mm 1
2 k10109 |Outer Boot Clip 1 4 ™ 3 K10078  |Pin Bolt 150 mm / 16x1,5 1
4 K10069 Guide Pin 34x80 mm 1
5 K10076  |Pin Bolt 80 mm / 16x1.5 1
® ) KI10068  |Guide Pin 32x80 mm 1
7 )\ K10076  |Pin Bolt 80 mm / 16x1.5 1
.‘k:__‘__, _ B _3K10094 Caliper Pin Rubber Bush 39 mm 1
- i 5 9 'K10Q§§ Inner Boot (Red) 1
S 1.0 _w Pin Boot Ring 49x36x5 1
LR 10080  |Outer Boot(Black) 1
12 4 Kioio9 Boot Clip 1
13 @ 10093 T Pin Rubber Bush 40%34x50 1
I} ) L ) 14 = 4 APin Cap 40x14,5 1




SBSB7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits SB6SB7

DP NO. K10060 DP NO. K10064
Caliper Plastic Cover 3 Cables Brake Pad Retainer Repair Kit




SN6SN7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SNG6SN7

DP NO. K20006
Caliper Pin Cap Set

DP NO. K20009
P Caliper Pin Cap Kit

PART NO. DP NO. DESCRIPTION DIMENSION aTty PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K10103  |Pin Cap

1 1 K10090  |Outer Boot(Black) 1
2 K10088 |lnner Boot (Rel) /L 1 2 K10109  |Outer Boot Clip 1
3 Ki0113 |PnCapORNg 1 = 1
4 K10110  |Pin Boot Ring vy & 49x36x5 1

DP NO. K20007
Caliper Pin Boot Kit

DP NO. K20013

Caliper Boot & Pin Repair Kit

PART NO. DP NO. DESCRIPTION DIMENSION aTy PART NO. DP NO.

DESCRIPTION DIMENSION QTY
1 K10088 Inner Boot (Red) 1 1 K10103 Pin Cap &
2 K10110  |Pin Boot Ring 49x36x5 1 2 K10109  |Outer Boot Clip 6
3 K10090  |Outer Boot{Black) 6
1 4 K10113 Pin Cap O Ring 6

DP NO. K20008

DP NO.

Caliper Pin Cap Kit Pin Set

1 K10103  |Pin Cap 1 K10068  |Guide Pin 32x80 mm 1
2 K10113  |Pin Cap O Ring 1 K10071  |Guide Pin 36x114 mm 1
K10076  |Pin Bolt 80 mm / 16x1.5 1
] K10077  |Pin Bolt 85 mm / 16x1,5 1
( L _J) = Arh, I . k10088  |inner Boot (Red) 1
i( 3 ) O ) \ }, = 6 \K10096  |Caliper Pin Rubber Bush 35mm 1
e — ¥ . " | K10097  |Pin Bush 40%36x82 1
1 2 \, ="’ | 8 K10103. |Pin Cap 1
L g + s | 10110 |Pin Boot Ring 38x31x0 1
10 % 1%? Guide Pin Bold Ring 1
11| i0113 _[RinCap O Ring 1
"




SN6SN7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SNG6SN7

DP NO. K20016 DP NO. K20032

Caliper Bridge Pin & Ring & Bushing Set

PART NO. DP NO. DESCRIPTION DIMENSION aTty

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K10068  |Guide Pin y / 32x80 mm 1 1 K10011  |Caliper Bridge Guide Pin
2 k10071  |GuidePin /4 0 4 36x114 mm 1 2 K10012  |Caliper Bridge Guide Pin Clamp 2
3 K10076 |PinBolt y _ 80 mm / 16%1,5 1 3 K10092  |Brake Lever Bush 1
4 K10077  |Pin Bolt y &5 85 mm 7 16x1,5 1
5 K10096  |Caliper Pin Rubber B@?— 35mm 1
& K10107  |Guide Pin Bold Ring & Q 1

DP NO. K20017
Pin Set

DP NO. K20033
Adjusting Mechanism Cap Set 38 mm

PART NO. DP NO. DESCRIPTION DIMENSION aTy

PART NO. DP NO. DESCRIPTION DIMENSION QTY
1 K10096 Caliper Pin Rubber Bush 35mm 1 1 K10015 Adjusting Mechanism Cap 38mm 10
2 K10068 Guide Pin 32x%80 mm 1 2 K10114 Shear Adapter 10
3 K10076 Pin Bolt 80 mm / 16x1,5 1
4 K10107 Guide Pin Bold Ring 1

DP NO. K20034
Adjusting Mechanism Cap Set 38 mm

DP NO. K20018
Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy PART NO. DP NO. DESCRIPTION DIMENSION QaTy

1 K10096 Caliper Pin Rubber Bush 35mm 1 K10015 Adjusting Mechanism Cap 38mm 10
1 2 K10068 Guide Pin 32x%80 mm 1 K10114 Shear Adapter 10
N 3 K10120  |Outer Boot 10

35 MM

e ®®
*®

v @
“®
r,.
v @
)
“®
"
" ®

=]




SN6SN7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SN6SN7

DP NO. K20038
Caliper Pin Cap Set

DP NO. K20049
Pin Set

DP NO. K20050
Pin Set

L

32280,

DESCRIPTION

PART NO. DPNO. DIMENSION aTy

1 K10090 _[Outer Boot(Black) / 1

2 K10114  |Shear Adapter. 0 /4

3 K10088  |Inner Boot (Red) y _ 1

4 K10109  |Outer Boot Clip y &5 1

5 K10110  |Pin Boot Ring o 49x36%5 1
PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K10071 Guide Pin 36x114 mm 1

2 KA0077 Pin Bolt 85 mm / 16x1,5 1

3 K10068 Guide Pin 32%80 mm 1

4 KA0077 Pin Bolt 85 mm / 16x1,5 1

5 K10094 Caliper Pin Rubber Bush 39 mm 1

3] K10107 Guide Pin Bold Ring 1
PARTNO. DPNO. DESCRIPTION DIMENSION QTy

1 K10094 Caliper Pin Rubber Bush 39 mm 1

2 K10068 Guide Pin 32%80 mm 1

3 KA0077 Pin Bolt 85 mm / 16x1,5 1

4 K10110 Pin Boot Ring 49%36x5 1

DP NO. K20051
Pin Set

31‘50!§i§ii§ii§§§§il'
1 39 MM

2

DP NO. K20055
Pin Set

2
||'|| 32x80

! =
" 39 MM
)3

DP NO.
Pin Set

32x80,

39 MM

PART NO. DP NO. DESCRIPTION DIMENSION aTy
K10068  |Guide Pin 32x80 mm 1
2 K10094  |Caliper Pin Rubber Bush 39 mm 1
PART NO. DP NO. DESCRIPTION DIMENSION QTy
K10084 Caliper Pin Rubber Bush 39 mm 1
2 K10068 Guide Pin 32x80 mm 1
3 K10077 Pin Bolt 85 mm / 16x1,5 1
PART NO. DP NO. DESCRIPTION DIMENSION QTY
| 1 K10094 Caliper Pin Rubber Bush 39 mm 1
2 K10068 Guide Pin 32x80 mm 1




SN6SN7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SNG6SN7

DP NO. K20068
Caliper Set

DP NO. K20071
Caliper Set

PART NO. DPNO. DESCRIPTION DIMENSION aTy PART DP NO. DESCRIPTION DIMENSION aTy
1 K10001  |Adjusting Mech' 2 1 1 K10001  |Adjusting Mechanism Shaft 1
2 K10004 |Adjusting Guide Pinion Shaft 1 2 K10004 |Adjusting Guide Pinion Shaft 1
3 K20073  |Caliper Bridge 1 3 K20073  |Caliper Bridge 1
4 K1io0022 Brake Lever 0° " 4 113mm 1 4 K10025 Brake Lever 12° 123mm 1
5 K10037  |Roller Bearing 1 5 K10037  |Roller Bearing 1
3 K10040 Caliper Chain 4 .29 Link 1 6 K10040 Caliper Chain 29 Link 1
7 K20076  |Caliper Dust Rubber Set 1 7 K20076  |Caliper Dust Rubber Set 1
8 K10080 Caliper Calibration Bolt . ﬁr@ad 2 & K10080 Caliper Calibration Bolt 3Thread 2
DP NO. K20069 DP NO. K20072
Caliper Set Shaft Housing Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy DP NO. DESCRIPTION DIMENSION QTY

1 K10001 Adjusting Mechanism Shaft 1 1 K10018 Caliper Bridge 1
2 K10004 (Adjusting Guide Pinion Shaft 1 2 K10014 Spring 25 x 49 mm 1
3 K20073 Caliper Bridge 1 3 K10011 Caliper Bridge Guide Pin 1
4 K10023 Brake Lever 0° 126mm 1 4 K10012 Caliper Bridge Guide Pin Clamp 2
5 K10037 Raoller Bearing 1 5 K10080 Caliper Calibration Bolt 3Thread 2
6 K10040 Caliper Chain 29 Link 1 & K10092 Brake Lever Bush 1
7 K20076 Caliper Dust Rubber Set 1 |

8 K10080 Caliper Calibration Bolt 3Thread 2

|

DP NO. K20070
Caliper Set

RTNO. DP NO. DESCRIPTION DIMENSION aTy PART NO. DP NO. DESCRIPTION DIMENSION QaTy

1 K10001 (Adjusting Mechanism Shaft 1 |1 1 K10018 Caliper Bridge 1
2 K10004 Adjusting Guide Pinion Shaft 1 2 K10014 Spring 225 x 49 mm 1
3 K20073 Caliper Bridge 1 L3 K10011 Caliper Bridge Guide Pin 1
4 K10024 Brake Lever 127 1 4 K10012 Caliper Bridge Guide Pin Clamp 2
5 K10037 Raoller Bearing 1
6 K10040  |Caliper Chain 29 Link 1
T K20076 Caliper Dust Rubber Set 1
8 K10080 Caliper Calibration Bolt 3Thread 2




SN6SN7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SNG6SN7

DP NO. K20074 DP NO. K20076

Adjusting Mechanism Cap Set 35 mm Caliper Dust Rubber Set
T
1 K10116 Adjusting MechMﬁ 35mm 10 1 K10082 Tappet&Boot Assembly 69.20 mm 2
2 K10114 Shear Adapter 10 2 K10086 Inner Seal 2
3 K10099  |Bush 18x16x10 2

DP NO. K20075 DP NO. K20077

Adjusting Mechanism Cap Set 35 mm Caliper Dust Rubber Set
1 K10116  |Adjusting Mechanism Cap 35mm 10 1 K10082 Tappet&Boot Assembly 69.20 mm 2
2 K10114 Shear Adapter 10 ) 3 2 K10099 Bush 18x16x10 2

‘ ‘ . ’ ‘ 3 K10120  |Outer Boot 10 6520 MM
929000000606
m B S A e Eegec - > @

18x10x10 2

DP NO. K20025 DP NO. K10001 DP NO. K10004 DP NO. K10005 DP NO. K10007 DP NO. K10018
Caliper Body Cap Set Adjusting Mechanism Shaft Adjusting Guide Pinion Shaft Adjusting Guide Pinion Shaft Adjusting Mechanism Gear Caliper Bridge




SN6SN7 Knorr Caliper Repair Kits

DP NO. K20078
Caliper Dust Rubber Set

DP NO. K20080
Pin Set Caliper Dust Rubber Set

Knorr Caliper Repair Kits

SN6SN7

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10082 Tappet&Boot A@nbm, 69.20 mm 1 1 K10082 Tappet&Boot Assembly 69.20 mm 2
69.20 MM 2 KA0099 Bush 18x16x10 1 2 K10090 Outer Boot(Black) 1
3 K10099 Bush 18x16x10 2
4 K10093 Caliper Pin Rubber Bush 40x34x50 1
5 K10109 Outer Boot Clip 1
L] K10110 Fin Boot Ring 49%36x5 1
7 K10088 Inner Boot (Red) 1
D
18x10x10
DP NO. K20079
Caliper Dust Rubber Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION aTty
1 K10082  |Tappet&Boot Assembly 69.20 mm 1 1 K10068  |Guide Pin 32x80 mm 1
€9.20 MM 2 K10086  [Inner Seal 1 2 K10071 Guide Pin 36x114 mm 1
3 K10099  |Bush 18x16x10 1 3 K10076  |Pin Bolt 80 mm / 16x1,5 1
4 K10077  |Pin Bolt 85 mm / 16x1,5 1
= \ 5 K10088 Inner Boot (Red) 1
5 K10094  |Caliper Pin Rubber Bush 39 mm 1
7 K10097 Pin Bush 40x36x82 1
1 ¢ 8 K10104  |Pin Cap 40x14,5 1
o 9 K10110 | Pin Boot Ring 49x36x5 1
18x10x10 10 K10110  |Pin Boot Ring 493615 1

DP NO. K10022

Brake Lever 0°,113mm

DP NO. K10023 DP NO. K10024

Brake Lever 0°,126mm Brake Lever 12°

DP NO. K10025 DP NO. K10037

Brake Lever 12°,123mm Roller Bearing

DP NO. K10040
Caliper Chain29 Link




SN6SN7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SN6SN7

DP NO. K20082
Dust Rubber Set & Pin Set

DP NO. K20084

Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION aTy PART NO. DP NO. DESCRIPTION DIMENSION QTy
K10082 Tappet&Boot Aﬁﬁnbﬁr‘L 69.20 mm 2 1 K10094 Caliper Pin Rubber Bush 39 mm 1
e 2 K10090  |Outer Boot(Bidck)- 1 g 2 K10068  |Guide Pin 32x80 mm 1
3 KA0099 Bush 18x16x10 2
4 KA0093 Caliper Pin Rubber Bush 40x34x50 1
5 K10109 Outer Boot Clip 1
8 K10110 _ |Pin Boot Ring 49%36x5 1 10280 -
7 K10088 Inner Boot (Red) 1
8 K10097  |Pin Bush 40x36x82 1 +
K10086 Inner Seal 1 2 35 MM
K10015 Adjusting Mechanism Cap 38mm 1
K10103 Pin Cap 1
K10113 Pin Cap O Ring 1
DP NO. K20083 DP NO. K20085
Pin Set Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QaTty
1 K10094  |Caliper Pin Rubber Bush 39 mm 1 1 K10097  |Pin Bush 40x36x82 1
2 K10068  |Guide Pin 32x80 mm 1 1. 5 2 K10071 Guide Pin 36x114 mm 1
3 K10076 Pin Bolt 80 mm J 16x1,5 1 2 S 3 K10077 Pin Bolt 85 mm / 16x1,5 1
4 K10110  |Pin Boot Ring 49%36x5 1 L § P 4 K10068  |Guide Pin 32x80 mm 1
3 = 5 K10076  |Pin Bolt 80 mm / 16x1,5 1
4 39 MM 6 K10094  |Caliper Pin Rubber Bush 39 mm 1
12530 “h 7 K10088  |Inner Boot (Red) 1
: b ' J 8 K10110 _|Pin Boot Ring 493645 N
\ § 9 K10104  |Pin Cap 40x145 1
)

DP NO. K10043
Locking Shim

DP NO. K10048

Caliper Plastic Cover Without Sensor

DP NO. K10049
Caliper Plastic Cover Wi0 S¢

DP NO. K10044
Locking Shim

DP NO. K10050
Caliper Plastic Cover 3 Cables WIClip

DP NO. K10051
Caliper Plastic Cover 2 Cables WIClip




Knorr Caliper Repair Kits S6SN7

SN6SN7 Knorr Caliper Repair Kits

DP NO. K20086 DP NO. K10064 DP NO. K10080 DP NO. K10092

Brake Pad Retainer Repair Kit Caliper Calibration Bolt 3Thread Brake Lever Bush
PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 1 KA0097 Pin Bush 40x36x82 1
) ~— 8 2 K1007T1  |Guide Pin 36x114 mm 1
Sialid ‘—\\\ ' 3 KA0OTT Pin Bolt 85 mm / 16x1,5 1
. . - . 4 K10068 Guide Pin 32x80 mm 1
3 E_ -
. Q seiod 5 KA00TE F'In_BoIE . 280 mm [ 16x1,5 1
33480 6 K10094  |Caliper Pin Rubber Bush .39 mm 1 ‘
§ . 7 7 K10088 Inner Boot (Red) 1
y 8 8 K10110 Pin Boot Ring 49x36x5 1
=’ 9 K10103 Pin Cap 1
5 _ 3 10 K10113 Pin Cap O Ring 1
10
Pin Set Shear Adapter
PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K10097 Pin Bush A40x36x82 1
2 K10121 Guide Pin 36x135 mm 1
3 K10079 Pin Bolt 150 mm / 16x1,5 1
4 K10068  |Guide Pin 32x80 mm 1

5 K10076 Pin Bolt 80 mm / 16x1,5 1 Q’

6 K10084  |Caliper Pin Rubber Bush 39 mm 1 k.‘f
7 K10080  |Outer Boot(Black) 1
8 K10109 Outer Boot Clip 1
9 K10088  |Inner Boot (Red) 1
10 K10110 Pin Boot Ring 49x36x5 1

DP NO. K10061
Caliper Plastic Cover (W/O Clips)

DP NO. K10062
Caliper Plastic Cover 2 Cables WIClip

DP NO. K10063

Caliper Plastic Cover 3 Cables WIClip




SK7

DP NO. K20007
Caliper Pin Boot Kit

DP NO. K20076

Caliper Dust Rubber Set

6920 MM

L

Knorr Caliper Repair Kits

PARTNO. DP NO. DESCRIPTION DIMENSION aTy
1 K10088  |Inner Boot (Red) 1
2 K10110  [Pin Boot Ring, 49x36x5 1
PARTNO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10082  |Tappet&Boot A bly 69.20 mm 2
2 K10086  |Inner Seal 3
3 K10099 Bush 18x16x10 2

Knorr Caliper Repair Kits

DP NO. K20077
Caliper Dust Rubber Set

6920 MM

PART NO. DP NO.

DESCRIPTION

SK7

DP NO. K20078
Caliper Dust Rubber Set

6920 MM

2

N

18x10x10

DIMENSION QTy
1 K10082 Tappet&Boot Assembly 69.20 mm 2
2 K10099 lBush 18x16x10 2
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10082  |Tappet&Boot Assembly 69.20 mm 1
2 K10099 Bush 18x16x10 1

DP NO. K20025 DP NO. K10001

Caliper Body Cap Set

Adjusting Mechanism Shaft

DP NO. K10004
Adjusting Guide Pinion Shaft

DP NO. K10005

Adjusting Guide Pinion Shaft

DP NO. K10007

Adjusting Mechanism Gear

DP NO. K10030

Brake Lever 12°,123mm




SK7  Knorr Caliper Repair Kits

Knorr Caliper Repair Kits SK7

DP NO. K20034 DP NO. K20074

4 s Adjusting Mechanism Cap Set 35 mm

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION aTy

Adjusting Mechanism Cap Set 38 mm

1 K10015 Adjusting Mechﬁm C&', 38mm 10 1 K10116 Adjusting Mechanism Cap 35mm 10
2 K10114 Shear Adapter 10 2 K10114 Shear Adapter 10
3 K10120 Cuter Boot 10

.......

DP NO. K20033 DP NO. K20075

Adjusting Mechanism Cap Set 38 mm Adjusting Mechanism Cap Set 35 mm

P =
PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K10015 Adjusting Mechanism Cap 38mm 10 1 K10116  |Adjusting Mechanism Cap 35mm 10
2 K10114 Shear Adapter 10 2 K10114 Shear Adapter 10
3 K10120 Quter Boot 10

-------
e & S S8 e = -~

DP NO. K10031 DP NO. K10032 DP NO. K10037 DP NO. K10040 DP NO. K10043 DP NO. K10046
Brake Lever 0°,113mm Brake Lever Roller Bearing Caliper Chain29 Link Locking Shim Caliper Plastic Cover 3 Cables




SK7 Knorr Caliper Repair Kits

DP NO. K20088
Caliper Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K10001  |Adjusting Mww 1
2 K10004  |Adjusting Guide Rinfon Shaft 1
3 K20092  |Shaft Housing Set 1
4 K10030 Brake Leveri2® 123mm 1
5 K10037 Roller Bearing 1
6 K10040  |Caliper Chain 1,20 Link 1
7 K20076  |Caliper Dust Rubber Set %ﬂ mm 1
8 K10080 Caliper Calibration Bolt hread 2

DP NO. K20089
Caliper Set

Knorr Caliper Repair Kits SK7

DP NO. K20090
Caliper Set

K10080

Caliper Calibration Bolt

3Thread

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10001 ing Mechanism Shaft 1
2 10004 ing Guide Pinion Shaft 1
3 K20092  |Shaft Housing Set 1
4 K10031 Brake Lever 07 113mm 1
5 K10037  |Roller Bearing 1
6 K10040 Caliper Chain 29 Link 1
7 K20076  |Caliper Dust Rubber Set 69.20 mm 1
8 2

DP NO. K10047 DP NO. K10048

Caliper Plastic Cover 2 Cables Caliper Plastic Cover Without Sensor

DP NO. K10064

Brake Pad Retainer Repair Kit

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10001 Adjusting Mechanism Shaft 1
2 K10004 Adjusting Guide Pinion Shaft 1
3 K20082 Shaft Housing Set 1
4 K10032 Erake Lever 1
5 K10037 Roller Bearing 1
6 K10040 Caliper Chain 29 Link 1
7 K20076 Caliper Dust Rubber Set 69.20 mm 1
3 K10080 Caliper Calibration Bolt 3Thread 2
DP NO. K20091
Caliper Set
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K10019 Caliper Bridge 1
2 K10014 Spring D25 x 49 mm 1
3 K10080 Caliper Calibration Bolt 3Thread 2

DP NO. K10080 DP NO. K10065

Caliper Calibration Bolt 3Thread Rubber Cover




SK7

Knorr Caliper Repair Kits

Knorr Caliper Repair Kits

SL7SM7

DP NO. K20092

Shaft Housing Set

DP NO. K20093

Pin Set

DP NO. K20094

Pin Set

DESCRIPTION

PART NO. DP NO. DIMENSION QaTy
K10019  |Caliper Bridge 1
K10014  |Spring y. y @25 % 49 mm 1
PART NO. DP NO. DESCRIPTION DIMENSION QTYy
1 K10074 Pin Bolt 70O mm / 16x1,5 1
2 K10070 Guide Pin 36x64 mm 1
3 K10088 Inner Boot (Red) 1
4 K10110 Pin Boot Ring 49x36x5 1
5 K10105 Pin Cap 40x24 5 1
] K10102 Pin Bush 40x%36x20 1
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K10070  |Pin 36x64 mm 1
2 K10071  |Pin 36x114 mm 1
3 K10074 Pin Bolt Tamm / 16x1,5 1
4 K10077 Pin Bolt 85 mm / 16x1,5 1
] K10088 Inner Boot (Red) 2
& K10097 Pin Bush 40x36x82 1
7 K10102 Pin Bush 40x%36x20 1
& K10104 Pin Cap 40x14.5 1
) K10105 Fin Cap 40x24,5 1
10 K10110 Pin Boot Ring 49x36x5 2

DP NO. K20007
Caliper Pin Boot Kit

DP NO. K20055
Pin Set

h '
\ 39 MM
3

DP NO.
Pin Set

39 MM

PART NO. DP NO. DESCRIPTION DIMENSION QTy
K10088  |Inner Boot (Red) 1
K10110 Pin Boot Ring 49x36x5 1
PART NO. DP NO. DESCRIPTION DIMENSION QTY
K10094 Caliper Pin Rubber Bush 39 mm 1
2 K10068 Guide Pin 32x80 mm 1
3 K10077 Pin Baoit 85 mm / 16x1,5 1
PART NO. DP NO. DESCRIPTION DIMENSION QTY
K10094 Caliper Pin Rubber Bush 39 mm 1
K10068 Guide Pin 32%80 mm 1




SL7SM7 Knorr Caliper Repair Kits Knorr Caliper Repair Kits SL7SM7

DP NO. K20085 DP NO. K20096

Y O N Caliper Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION aTy

1 K10097 _ [Pin Bush 40x36x82 1 1 K10019 _ |caliper Bridge 1
1 6 2 K10071 | Guide Pin 36x114 mm 1 2 K10014 _ |spring @25 x 49 mm 1
2 - p 3 10077 [Pin Bolt 85 mm / 16x1,5 1 3 K10081 _|caliper Calioration Bolt 2

YL - i 4 10068 |Guide Pin 32480 mm 1

3 | = 5 K10076 _|Pin Bolt ,80 mm / 16x1,5 1

" \ ’ S 6 K10084 _ |Caliper Pin Rubber Bush 39 mm 1

% ®F 7 10088 [Inner Boot (Red) 1

8 K10110__[Pin Boot Ring 49¢36%5 1

\ am ° 9 10104 |Pin Cap 40x14,5 1 2

DP NO. K20097
Shaft Housing Set

P =
PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

K10001 Adjusting Mechanism Shaft
K10006 Adjusting Guide Pinion Shaft
K20097 Shaft Housing Set

K10033 Brake Lever

K10039 Roller Bearing

K10040  |Caliper Chain 29 Link

DP NO. K20095

Caliper Set

1 K10019 Caliper Bridge 1
2 K10014 Spring @25 % 49 mm 1

K20098  |Caliper Dust Rubber Set 69.20 mm
K10081 Caliper Calibration Bolt

@~ ||| W k|-
B |t |t |t | |t | |-

DP NO. K10001 DP NO. K10006 DP NO. K10007 DP NO. K10033 DP NO. K10039 DP NO. K10040
Adjusting Mechanism Shaft Adjusting Guide Pinion Shaft Adjusting Mechanism Gear Brake Lever Roller Bearing Caliper Chain29 Link




SL7SM7 Knorr Caliper Repair Kits

Knorr Caliper Repair Kits SL7SM7

DP NO. K20098

DP NO. K20100
Caliper Dust Rubber Set Caliper Dust Rubber Set
PART NO. DP NO. DIMENSION PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K10085 Tappet&Boot As ’ by 69.20 mm 2 1 1 K10085 Tappet&Boot Assembly 69.20 mm 1
K10086 Inner Seal 2 2 K10100 lBush 17x15x7 1
K10100 Bush 17x15%7 2
DP NO. K20099 DP NO. K20101
Caliper Dust Rubber Set Caliper Dust Rubber Set
1 1 K10085 |Tappet&Boot A bly 69.20 mm 1 1 K10085  |Tappet&Boot Assembly £9.20 mm 2
2 K10086 |Inner Seal 1 ! 2 K10100 |Bush 17x15¢7 2
a K10100  |Bush 17x15x7 1

DP NO. K10044 DP NO. K10048 DP NO. K10081

DP NO. K10064
Locking Shim

Caliper Plastic Cover Without Sensor Caliper Calibration Bolt3Thread Brake Pad Retainer Repair Kit




PAN17 Wabco Caliper Repair Kits

DP NO. K40001
Caliper Adjusting Set (W/Pin) Short 110 mm

DP NO. K40002
Caliper Adjusting Mechanism (WiGroove) Short 10 mm

1o \m%

76 MM

‘ .

DP NO. K30001
Adjusting Mechanism(W/Pin) Short110 mm

DP NO.

PART NO.

DP NO.

DESCRIPTION

DIMENSION

1 K30001 i 110 mm 1
2 K30036 Gaide Pin 30x75 mm 1
3 K30037 Gaide Pin 30x88 mm 1
4 K30045 Caliper Pin Bolt 70 mm / 16x1 5 1
5 K30046 Caliper Pin Bolt 0 mm / 16x1,5 1
[+ K30058 Tappet Boot 1
7 K30061 Pin Boot 2
8 K30065 Pin Bush 3 x20 2
9 K30070 Pin Cap x17 2
10 K30069 Pin Bush 1
PART NO. DP NO. DESCRIPTION DIMENSION QaTty
1 K30085  |Adjusting Mechanism Pin 1
2 K30042  |Calibration Bolt (W/Groove) Short 76 mm 1
3 K30089  |Clutch 1
4 K30097 Torsion Spring @425 x 22 mm 1
5 K30088 Retainer 1
& K30035  |Caliper Adjusting Mechanism Washer & 1

K30003
Adjusting Mechanism(W/Groove) Short110 mm

DP NO. K30008

Caliper Push Plate (W/Pin) - R

Wabco Caliper Repair Kits

DP NO.

’)

10 m{\

00
00 &

K40003
Caliper Adjusting Mechanism (WIPin) Short 110 mm

i 76 MM

5

-2
e
&

DP NO.

K40004

Caliper Pin & Dust Rubber Set

DP NO. K30009
Caliper Push Plate (W/Groove) - R

PAN17

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K30085 Adjusting Mechanism Pin 1
2 K30041 Caliper Calibration Bolt (W/Pin) Short 76 mm 1
3 K30089 Clutch 1
4 K30087 Torsion Spring 242 5 x 22 mm 1
] K30088 Retainer 1
6 K3003s Caliper Adjusting Mechanism Washer & 1
PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K30036 Gaide Fin 30x75 mm 1
2 K30037 Gaide Pin 30288 mm 1
3 K30045  |Caliper Pin Bolt 70 mm/ 16x1,5 1
4 K30046  |Caliper Pin Baolt 90 mm / 16x1,5 1
b K30058 Tappet Boot 1
6 K30061 Pin Boot 2
7 K30065 Pin Bush 34x30x20 2
8 K30070 Pin Cap 34x17 2
9 K30069 Pin Bush 34%30x25 1

DP NO. K30012
Caliper Push Plate (W/Pin) - L

DP NO.

K30013
Caliper Push Plate (W/Groove) - L




PAN17

DP NO. K40005

Caliper Pin & Dust Rubber Set

Wabco Caliper Repair Kits

Wabco Caliper Repair Kits

DP NO. K40007
Caliper Adjusting Mechanism Washer & Ring Set

PAN17

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K30040  |Gaide Pin 25%81 mm 4 1 K30089  [Clutch 1
2 K30048 Caliper Pin Ba&? S0 mm /12x1 5 4 2 K30087 Torsion Spring 242 5% 22 1
.o 3 K30049  |Bolt - 20 mm / mB 2 3 K30088  |Retainer 1
-.,__“'_3‘, s - . 4 K30064 Pin Boot 4 4 K3003s Caliper Adjusting Mechanism Washer & 1
%“s}?" ~— T e 5 K30060 | Tappet Boot 2
Q f’ . 6 K30068  |Pin Bush \28x25x15 8
0 gy 7 K30076  |Pin Cap | 28x16 4
'3//. ‘*‘. . e e, 2 : K30077  |Plastic Plug @ 2
9 K30078 |0 Ring 2
10 K30079  |Seal 55x39K12 2
11 K30081  |Bolt Spring 2
DP NO. K40006 DP NO. K40011
Caliper Cap & Pin Set Caliper Head Gasket and Seal Set
PART NO. DP NO. DESCRIPTION DIMENSION QTY PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K30045  |Caliper Pin Bolt 70 mm / 16x1,5 1 K30074  |Caliper Head Cap 1
2 K30046  |Galiper Pin Bolt 90 mm / 16x1,5 1 1 2 2 K30075 |Seal 1
3 K30112  |Caliper Pin Bolt M10x1 x 40 mm 8 3 K30108  |Cover Gasket 1
4 K30109  |Cover Gasket 1 || \
5 K30065 Pin Bush 34x30x20 3
6 K30058  |Tappet Boot 1
7 K30061  |Pin Boot 2 I
8 K30070  |Pin Cap 34x17 2
9 K30074  |Caliper Head Cap 1
10 K30075  |Seal 1
1 30055 |Caliper Seal 1 {I

DP NO. K30042
Calibration Bolt (W/Groove) Shiort 76 mm

DP NO. K30022

Roller Bearing

DP NO. K30041
Caliper Calibration Bolt (W/Pin) Short 76 mm

DP NO. K30026
Caliper Bridge

DP NO. K30055
Caliper Seal

DP NO. K30111
Steel Cap Kit (@34,5 x 38,5 mm)




PAN17 Wabco Caliper Repair Kits PAN17 Wabco Caliper Repair Kits

DP NO. K30035

Caliper Adjusting Mechanism Washer & Ring Set

PART NO. DESCRIPTION DIMENSION aTy
41,4 x ©14,25

K30098
K30105
K30100 049 4 x 3355

rin i
5 i
T
g 1 K30030 in 2225 %24
1 ° K30099 Washer 45 x @32
T O ’

O

6 3 :

Caliper Dust Rubber Set i
PART NO. DP NO. DESCRIPTION DIMENSION QTYy
1 K30061 Pin Boot 2
2 K30058 Tappet Boot 1 @
e e ,9

DP NO. K40009
Caliper Dust Rubber Seal Set
]
2

2
1 K30058  |Tappet Boot 1
2 K30055  |Caliper Seal 1
3 K30074 Caliper Head Cap 1

O [ Wk

DP NO. K40008




PAN19-1/22-1 Wabco Caliper Repair Kits Wabco Caliper Repair Kits PAN19-1/22-1

DP NO. K30035 DP NO. K40011

Caliper Adjusting Mechanism Washer & Ring Set Caliper Head Gasket and Seal Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K30101 @414 x 214,25 1 1 K30074 |Caliper Head Cap 1
2 K30098 1 1 2 2 K30075  |Seal 1
5 3 K30105  |Clip 1 . 3 K30109 |Cover Gasket 1
g 1 4 K30100  |Washer 249 4 x @35 5 1 Q
1 ° 5 K30030  |Spring @225 24 1
o 6 K30099  |Washer 45 x ©32 1
o
:Q ¢

DP NO. K40010 DP NO. K40012

Caliper Dust Rubber Set Caliper Adjusting Set (W/Pin) Long 115 mm

P =
PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K30059  |Tappet Boot 1 1 K30002  |Adjusting Mechanism(W/Pin) Long 115 mm

2 K30055 Caliper Seal 1 K30038 Gaide Pin 38x76 mm

3 K30074 Caliper Head Cap 1 K30039 Gaide Pin 38x120mm
K10076  |Caliper Pin Bolt B0 mm / 16x1,5
K30047  |Caliper Pin Bolt 120 mm / 16x1,5

K30059  |Tappet Boot
K30062  |Pin Boot
K30066  |Pin Bush 42x38x30
K30071 Pin Cap 42017
K30072 Pin Cap 42x28
K30082  |Washer

Wl |~ oo sk

mla|lalw|ln|la|la]la|ala]l=

-l
-“lo

DP NO. K30002 DP NO. K30010 DP NO. K30011 DP NO. K30014 DP NO. K30015 DP NO. K30016
Adjusting Mechanism(W/Pin) Long 115mm [ Caliper Push Plate (W/Groove) - R Caliper Push Plate (W/Groove) - R Caliper Push Plate (W/Groove) - L Caliper Push Plate (W/Groove) - L Brake Lever




PAN19-1/22-1 Wabco Caliper Repair Kits Wabco Caliper Repair Kits PAN19-1/22-1

DP NO. K40015
 Caliper Pin & Dust Rubber Set

DP NO. K40013
Caliper Pin & Dust Rubber Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K30038  |Gaide Pin 38¢76 mm 1 1 K30038  |Gaide Pin 38476 mm 1
2 K30039  |Gaide Pin 38x120mm 1 2 K30039 |Gaide Pin 38x120mm 1
: P 3 K10076  |Caliper Pin B 80 mm / 16x1,5 1 ’ 2 ® 7 3 K10076 | Caliper Pin Boit 80 mm / 16x1,5 1
4 K30047  |Caliper Pin Bolt 120 mm / 16x1,5 1 % - e 4 K30047 |Caliper Pin Boit 120 mm / 16x1,5 1
\ 5 K30059  |Tappet Boot 1 1 \ B. 5 K30059 | Tappet Boot 1
: L ) 6 K30062  |Pin Boot 2 3 % . : @ B K30062  |Pin Boot 2
5 o @ 7 K30066  |Pin Bush 8x30 3 \ s T - @ 7 K30066  |Pin Bush 42¢38x30 3
) A ) ) K30071  |Pin Cap 17 1 c' s © - 8 K30071  |Pin Cap 42417 2
Y ., =" g K30072  |Pin Cap x28 1 / o) 8 9 K30072  |Pin Cap 42528 2
10 K30082  |Washer 2 10 10 K30082 |Washer 4
I K30063  |Pin Boot 2

DP NO. K40014
Shaft Housing
1 K30027  |Caliper Bridge 1
2 30031 Spring @20,5 x 41 mm 2 @

DP NO. K30022

Roller Bearing

DP NO. K30027 DP NO. K30043

Caliper Bridge Caliper Calibration Bolt (W/Pin) 87 mm
Q)

- B O




PAN19-2/22-2 Wabco Caliper Repair Kits Wabco Caliper Repair Kits PAN19-2/22-2

DP NO. K40018
Calibration Head Gasket and Seal Set

DP NO. K40016
Shaft Housing

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K30029  |Caliper Bridge 1 1 K30075 Seal 2
2 K30033 Spring 1 2 K30074 Caliper Head Cap 2
3 K20115 Cover Gasket 1

DP NO. K40019

DP NO. K40017

Lever Bearing Adjusting Set Calibration Bolt - R

_——————————,

PART NO. DP NO. DESCRIPTION DIMENSION QTy

PARTNO. DP NO. DESCRIPTION DIMENSION QTy

K30006 |Gear Set-R 1 K30053  |Caliper Calibration Bolt - R 1

2 K30110 Calibration Bolt Locking Plate 1
3 K30116  |Seal 1

1 2 K30007  |Gear Set-L
Q ’ K30033 Spring
3 30084  |Caliper Calibration Bolt Pin
K30075  |Seal
K30113  |Clip
O

K30114 Washer

EoN SRR SE RSN

~ | @ | s

_‘S
&

o O

S
g

~al, ‘._..!

DP NO. K30006 DP NO. K30007 DP NO. K30017
Gear Set-R Gear Set - L Brake Lever

DP NO. K30005 DP NO. K30024

Gear Set

DP NO. K30023
Roller Bearing

Roller Bearing

-_.__________________________

® ©® S




PAN19-2/22-2 Wabco Caliper Repair Kits Wabco Caliper Repair Kits PAN19-2/22-2

DP NO. K40020 DP NO. K40022
Calibration Bolt - L Caliper Dust Rubber Set

T IIIIIEIEEEEEESESEESEEESEEEEESEESEEE___—_———————_—.
PART NO. DP NO. DESCRIPTION PART NO. DP NO. DESCRIPTION DIMENSION aTy

Caliper Calibrati 1 K30034 .Caliper Dust Rubber
2 K30110  |Calibration Bolt LoeKing Pla 1 2 K30116 Seal

1 3 K30116 Seal 1 1 3 K30063 Pin Boot 2
. ‘
&&= O
2 3
DP NO. K40021
Caliper Pin & Dust Rubber Set
TR
1 K301174  |Caliper Dust Rubber Set
K30038 Gaide Pin 38x76 mm
K30039 38x120mm

1

2 1

* 3 Gaide Pin 1
% ’ﬁl. - ) K10076 | Caliper Pin Bolt 80 mm 7 16x1,5 1
\6 g 5 K30047  |Caliper Pin Bolt 120 mm / 16416 1
%_1 e sT 5 K30063__|Pin Boot 2
\‘ = =% 7 K30086  |Pin Bush 42x38x30 3
”;4 =hs 8 K30071  |Pin Cap 42017 1

e g K30072  |Pin Cap 42128 1

10 30074  |Caliper Head Cap 2

11 K30082 Washer 2

DP NO. K30117 DP NO. K30115 DP NO. K30084
Caliper Dust Rubber Set Cover Gasket Caliper Calibration Bolt Pin Set




MAXX22 Wabco Caliper Repair Kits Wabco Caliper Repair Kits MAXX22

DP NO. K40023 DP NO. K40026

P Caliper Seal Repair Kit

PARTNO. DP NO. DESCRIPTION DIMENSION aTy PARTNO. DPNO. DESCRIPTION DIMENSION QaTy

Caliper Guides & Seals Repair Kit

5 1 2 K30038  |Gaide Pin 7 4 38x76 mm 1 K30080  |Actuator Seal 1
o K30039 |GaidePin /. < [ 38x120mm 2 K30073  |Seal Cap 1
= = K10076  |Caliper Pin Balt y > 80 mm / 16x1,5 2
3 1 K30047 | Caliper Pin Bolt y & 120 mm / 16x1,5 3
Meer | K30087  |Bronze Bush > 42,3 % 238 x 35 mm

K30057  |Tappet Boot
K30062  |Pin Boot
K30071  |Pin Cap " 4 W17

8 -
9
®ee ¢
K30074  |Caliper Head Cap
s e B K30095  |Ring M B44.5 ;{ﬁm_
7 -1 ] -

W oo |~|dD || 8w k=

S S S S S T T

3

DP NO. K40024 DP NO. K40027

Caliper Plug Repair Kit

Caliper Adjusting

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTyY

1 K30087 Adjusting Mechanism Pin 1 1 K30074 Caliper Head Cap 1
2 K30044 Caliper Calibration Bolt 1 2 K30056 Caliper Sea 1

1 6 3 2 3 K30090 Clutch 333,75%30,4 mm 1 3 K30093 Adjuster Pin 1
4 K30081 Adjuster Gear 1 ||'|| 4 K300g2 Gear 1
5 K30084 Retainer @38, 75x@34%13,8 mm 1
6 K30096  |Spring ©42,6 x 25 mm 1 * o

5 4

DP NO. K40028

DP NO. K40025

Caliper Half Bearing

Caliper Cover

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QaTy
1 K30025 Roller Bearing

1
W 2 K30020  |Roller Bearing Housing
3 K30019  |Roller

K30051 Cover
K30050 |Bolt(Short} M8 x 16 mm 6




MAXX22 Wabco Caliper Repair Kits

DP NO. K40029

Caliper Washer & Circlip Repair Kit

5

OO0

QQ QQ

Wi
K30103 Washer
K30108 |C

PART NO. ] DESCRIPTION DIMENSION

@34.5 x @46.75

@41 x @527

Lol R R SR

al
K30107 Calip

K30104 Washer

DP NO. K30004

Caliper Adjusting Mechanism Assembly

DP NO. K30018

Brake Lever

t@

DP NO. K30025

Roller Bearing

DP NO. K30028
Caliper Bridge

DP NO. K30051

Cover

Wabco Caliper Repair Kits

MAXX22




D3  Meritor Caliper Repair Kits

Meritor Caliper Repair Kits

D3

DP NO. K60001

Caliper Set Front-R

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50002 Caliper Adjusli 1
N— 2 K50011 Spline Shaﬂ%& 26 Freze 1
% 3 K50017  |Bearing Hou! 1
& ﬂ 4 K50021 Roller Bearing 1
Lc 5 K50022 Ball Socket Set 1
ALY @ =) % 6 K60007  |Clutch System - R 1
& D i A@ 7 K60010  |Small Clutch System - R 1
a } s 8 Ke0012 .Caliper Cap&Pin Set ) | 1
— s@ = S -, g K50074  |Spline Shaft Bush 5x50x20 1
10 K50079 Boot Small 1
11 K50084 Wavy Washer 1
DP NO. K60002
Caliper Set Front -R
PART NO. DP NO. DESCRIPTION DIMENSION QTY
1 K50002  |Caliper Adjusting Gear -R 1
2 K50014  |Spline Shaft{Front) 48 Freze 1
3 K50017  |Bearing House 1
4 K50021 Roller Bearing 1
5 K50022  |Ball Socket Set 1
6 KB0007  |Clutch System - R 1
7 KB0010  |Small Clutch System - R 1
8 KB0012 | .Caliper Cap&Pin Set 1
9 K50074 Spline Shaft Bush 55x50x20 1
10 K50079 Boot Small 1
1" K50084  |Wavy Washer 1

DP NO. K50001

Caliper Adjusting Mechanism Gear Caliper Adjusting Gear -R

DP NO. K50002

DP NO. K50004
Caliper Adjusting Gear

DP NO. K60003

Caliper Set Front - L

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50004 Caliper Adjusting Gear 1
26 Freze | Teeth 2 K50013 Spline Shaft(Front) 26 Freze 1
24 . ) K50019  [Bearing House 1
s ° 4 Ks0021 _|Roller Bearing 1
- 5 K50022  |Ball Socket Set 1
- pARR) ‘C:! () 6 K60008  |Clutch System - L 1
-~ m % C% t 7 K60011  [Small Clutch System - L 1
/@ Qﬁa"]; E -, 8 K60012  [Caliper Cap&Pin Set 1
= = 9 K50074  |Spline Shaft Bush 55x50x20 1
10 K50079  [Boot Small 1
11 K50084  |Wavy Washer 1
DP NO. K60004
Caliper Set Front - L
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K50004  |Caliper Adjusting Gear 1
2 K50014 Spline Shaft(Front) 48 Freze 1
3 K50019  |Bearing House 1
4 KS0021 |Roller Bearing 3
5 K50022  |Ball Socket Set 1
6 KE0008  |Clutch System - L 1
7 KE0011 Small Clutch System - L 1
8 KE0012  |Caliper Cap&Pin Set 1
9 K50074 Spline Shaft Bush 55x50x20 1
10 K50079  |Boot Small 1
11 KS0084 |Wavy Washer 1

DP NO. K50008

Caliper Brake Lining Plate Spline Shaft(Front)

DP NO. K50011

26 Freze

— 26 Freze / Teeth

DP NO. K50012

Spline Shaft(Front) 48 Freze




D3  Meritor Caliper Repair Kits Meritor Caliper Repair Kits D3

DP NO. K60006 DP NO. K60008
Caliper Set Rear - L Clutch System - R

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50004  |Caliper Adjusting Gear " 1 1 K50045  |Clutch Plate 4
2 K50016  |Spline ShaftiReage ™ / 26 Freze 1 2 K50044  |Clutch Plate 3
3 K50019  |Bearing House 1 4 3 3 K50046  |Clutch 1
4 K50021 Roller Bearing y & 1 ° e 4 K50047  |Large Spring(Right) 1
5 K50022  |Ball Socket Set 1
6 K60008  |Clutch System - L A 1 1
7 K60011  |Small Clutch System - L 1 O O o O
8 K60012 _|Caliper Cap&Pin Set y 4 ) | 1 9 O o O
9 K50074  |Spline Shaft Bush _ﬁsom 1
10 K50079  |Boot Small 2 ) Ry 1
" K50084 Wavy Washer 1
DP NO. K60007 DP NO. K60009
Clutch System Clutch System - L
T————————————————————
PART NO. DP NO. DESCRIPTION DIMENSION QTY PART NO. DP NO. DESCRIPTION DIMENSION QTYy

1 K50045 Clutch Plate 4 1 K50045 Clutch Plate 4
2 K50044  |Clutch Plate 3 2 K50044  [Clutch Plate 3

1 3 K50046 Clutch 1 3 K50046 Clutch 1

O O O O : :

K50048  |Large Spring(Left)

DP NO. K50013 DP NO. K50014 DP NO. K50015 DP NO. K50016 DP NO. K50017 DP NO. K50019
Spline Shaft(Front) 26 Freze Spline Shaft(Front) 48 Freze Spline Shaft(Rear) 26 Freze Spline Shaft(Rear) 26 Freze Bearing House Bearing House




D3  Meritor Caliper Repair Kits

Meritor Caliper Repair Kits D3

DP NO. K60010 DP NO. K60012

4 s Small Clutch System - L

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTY

1 K50052 Fin I2¢TAMM 1 1 K50001 Caliper Adjusting Mechanism Gear 1

r-. . 2 K50053  |Pin 32x117MM 1 2 K50051  |Adjuster Cover 1

& - | 3 K50059  |Pin Bolt G2MM./18x1,5 1 3 K50058  |Dust Cover Bold 1

% E =3 4 K50060  |Pin Bolt 117MM./18x1,5 1 4 K50049  |Small Spring(Left) 1

& 5 K50067  |Pin Bush 36x32x42 2 5 K50085  [Wavy Washer 1
: °|" @ [ K50068  |Pin Bush N36x32x62 1
1-% . 7 K50075 | Pin Cap 31115 ;
& | 8 K50038 _|Pin Dust Cover 2

== 8

’ Q ] K50066 Caliper Pin Dust Rubber 2

DP NO. K60013
Caliper Cap&Pin Set

PO =
PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

DP NO. K60011

Small Clutch System -R

1 K50001 Caliper Adjusting Mechanism Gear 1 1 K50254 Screw M8 x 16 mm 2
2 K50051 Adjuster Cover 1 2 K50255 Screw M8 x 40 mm 4
3 K50058 Dust Cover Bold 1 3 K50039 Dust Cover 1
4 K50050  |Small Spring(Right) 1 || I 4 K50080  |Boot Big 7
5 K50085  |Wavy Washer 1

DP NO. K50021 DP NO. K50022 DP NO. K50042 DP NO. K50084 DP NO. K50058 DP NO. K50074
Roller Bearing Ball Socket Set Spline Shaft Adjusting Rod 26 Teeth Wavy Washer Dust Cover Bold Spline Shaft Bush




D3  Meritor Caliper Repair Kits

Meritor Caliper Repair Kits D3

DP NO. K60014 DP NO. K60016
Caliper Ca_p & Pin Set

Spring Set -R
PART NO. : DESCRIPTION DIMENSION QTyYy B

PARTNO. DP NO. DESCRIPTION DIMENSION aTy
1 K50047 Large Spring(Right) 1
2 K50050  |Small Spring(Right) 1
4
Caliper Cap & Pin Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50254 Screw M8 x 16 mm 2
1 2 K50255 Screw M8 x 40 mm
3 K50039 Dust Cover

PART NO. DP NO. DESCRIPTION DIMENSION QaTy
1 K50048

2 K50049

Large Spring(Left) 1
Small Spring(Left)

‘O
1

DP NO. K60017 @
Spring Set - L
[PaRTNO, oPWO. | mescaPron | oWeisow | o |




C Lisa

DP NO. K60018

Roller Bearing Set

Meritor Caliper Repair Kits

C Lisa

Meritor Caliper Repair Kits

DP NO. K60020
Operating Shaft - L

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50024 Roller Bearing @725/ @46 x 8,5 mm 1 1 K50041 Caliper Shaft - L 1
9 1 2 K50027  |Washer @73/ @47 mm 1 2 50020  |Shaft Base - L 1
3 K50023  |Roller Bearing @52 / @46 x 16 mm 1 3 50037  |Anti Rotation Pin 1
4 K50026  |Plain Bush y @44 x @40 x 15 mm 1 4 50036  |Ball Bearing Set 3
3 5 K50025  |Dust Excluder Retainér 44 x 13 mm 1
‘—-'—/ c
4 -
DP NO. K60019 DP NO. K60021
Operating Shaft - R Caliper Guides & Seals Repair Kit
EEEEE——————————————
PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION aTty
K50040  |Caliper Shaft - R 1 1 K50055  |Pin @30 x 75 mm 1
2 K50018  |Shaft Base - R 1 2 K50056  |Pin @30 x 115 mm 1
3 K50037  |Anti Rotation Pin 1 3 K50064  |Pin Bolt M18x1,5 x 95 mm 1
1 9 4 K50036  |Ball Bearing Set 3 4 K50063  |Pin Bolt M18x1,5 x 135 mm 1
5 K50033 Dust Excluder 2
: 5 K50082  |Pin Ring @42 % 12 mm 2
' N 7 K50072  |Plastic Bush 230 x @34 x 26 mm 2
@ 8 K50077  |Pin Cap @37 x 11 mm 1
9 K50078 Pin Cap @42 x 45 mm 1
10 K50073 Bush @34 x @30-30,5 x 26 mm 1

DP NO. K50007
Caliper Adjusting Mechanism (Right)

DP NO. K50003
Adjusting Gear - R

DP NO. K50005
Adjusting Gear - L

DP NO. K50006 DP NO. K50256

Caliper Adjusting Mechanism (Left)

DP NO. K50010

Caliper Adjusting Mechanism (Left) Caliper Brake lining Plate

L

VAAAAN
LALA L A

IAAAAN

IAAAAN PR

VY




C Lisa Meritor Caliper Repair Kits Meritor Caliper Repair Kits C Lisa

DP NO. K60022

Caliper Overhaul Seal Kit

PART NO. § DESCRIPTION DIMENSION T
1 K50257 Gasket 1
8 2 K50028 @52 [ @38 mm 1
g, 3 K50030 62 x 6 mm 1
4

4 K50029 @57 [ @40 mm 1
5 K50034 Adjuster Dust Cover 1
3T 8 - - . 6 K50031  |Seal 1
5 6 7 K50077 |Pin Cap 11 mm 2
2 o 8 K50032  |Tappet Dust Excluder 1
] K50033 Dust Excluder 2

1

DP NO. K50043
Caliper Shaft Lever @




D Lisa Meritor Caliper Repair Kits

DP NO. K60023

Caliper Pin Dust Rubber Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50054  |Pin ' ) 35x78MM 1
2 K50057  |Pin vy 35x131.5MM 1
g F 3 K50061  |Pin Bolt 150MM./20x1,5 1
% 3 ® 4 K50062  |Pin Bolt y - 100MM./20x1,5 1
‘% ~ 5 K50065  |Caliper Pin Dust Rub@i‘5 2
‘Q e 6 K50069 |Pin Bush " 39x35:30 2
‘j % — N 7 K50070  |Pin Bush | 239 x @136,2/36,3 x 47.5 1
. - ) K50071  |Pin Bush ) 4 0 2
9 K50076  |Pin Cap 2
10 K50081  |Pin Ring Qb 2
DP NO. K60018
Roller Bearing Set
PART NO. DP NO. DESCRIPTION DIMENSION QTy
K50024  |Roller Bearing ©72,5/ @46 x 8,5 mm 1
2 1 2 K50027 Washer @73/ @47 mm 1
3 K50023 Roller Bearing @52 / @46 x 16 mm 1
4 K50026 Plain Bush @44 x @40 x 15 mm 1
3 5 K50025 Dust Excluder Retainer 44 x 13 mm 1

DP NO. K50003 DP NO. K50005 DP NO. K50006

Adjusting Gear - R Adjusting Gear - L Caliper Adjusting Mechanism (Left)

L

VAAAAN
VY Y

Meritor Caliper Repair Kits D Lisa

DP NO. K60019
Operating Shaft - R

PART NO. DP NO. DESCRIPTION DIMENSION aTy

1 K50040 Caliper Shaft - R
2 K50018 Shaft Base - R

3 K50037 Anti Rotation Pin
4 K50036 Ball Bearing Set

[ ey ey By

3

DP NO. K60020
Operating Shaft - L

PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 KS0041  |Caliper Shaft - L
2 K50020  |Shaft Base - L

3 K50037 Anti Rotation Pin
4 K50036  |Ball Bearing Set

w|a|als

DP NO. K50007
Caliper Adjusting Mechanism (Right)

DP NO. K50009 DP NO. K50043
Caliper Brake lining Plate Caliper Shaft Lever

MARAAN
CALA AR




D Lisa Meritor Caliper Repair Kits Meritor Caliper Repair Kits D Lisa

DP NO. K60024

Caliper Overhaul Seal Kit

PART NO. : DESCRIPTION DIMENSION T
1 K50257 1
8 2 K50028 252 / 339 mm 1
g 3 K50030 262 x 6 mm 1
1o . . . 4 K50029 @57/ @40 mm 1
5 K50034  |Adjuster Dust Cover 1
3ICS 8. &S s K50031 _|Seal 1
5 6 7 K50076  |Pin Cap 17mm 2
2 o 8 K50032  |Tappet Dust Excluder 1
g K50033 |Dust Excluder 2

1




Duco

Meritor Caliper Repair Kits

Meritor Caliper Repair Kits

Duco

DP NO. K60025
Mechanism Set -R

BQI@O
S
e

.62

DESCRIPTION

DP NO. K60026
Mechanism Set - L

DP NO. K60027
Lever & Bearing Set

PART NO. DP NO. DIMENSION QaTy
1 K50091 Medhanism(Rig@ ) 2
2 K50087  |Dust ExcluderRetainer 63,5/ 11,5 mm 2
3 K50086  |Tappet DustExcluder / > 2
4 K50090  |Piston Head y & 2
5 K50089  |Piston Head Circlip { = 2
6 KS0088__ |Plastic Bush 048 245 x 30mm 2
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50082 Mechanism(Left) 2
2 K50087 Dust Excluder Retainer @63.5 /11,5 mm 2
3 K50086 Tappet Dust Excluder 2
4 K50090 Piston Head 2
5 K50089 Piston Head Circlip 2
3] K50088 Plastic Bush @49 x @45 x 30mm 2
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50095 Caliper Lever Radial L/IR 1
2 K50098 Actuator Seal 1
3 K50099 Roller Bearing 2
4 K50100 Lever Bush Radial L/IR 2
5 K50102 Roller 2

DP NO. K60028
Lever & Bearing Set - R

DP NO. K60029
Lever & Bearing Set - L

DP NO. K60030

Intermediate Gear - Spring Se

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K50096  |Caliper Lever(Right) 1
2 K50098  |Actuator Seal 1
3 K50099 Roller Bearing 2
4 K50101 Lever Bush(Right/Left) 2
5 K50102 Roller 2
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K50087 Caliper Lever(Left) 1
2 K50098 Actuator Seal 1
3 K50099 Roiler Bearing 2
4 K50101 Lever Bush(Right/Left) 2
] K50102 Roiler 2
PART NO. DP NO. DESCRIPTION DIMENSION QTy
K50103 Friction Spring 1
K50104 Return Spring 1
K50105 diate Gear 1




Duco Meritor Caliper Repair Kits Meritor Caliper Repair Kits Duco

DP NO. K60031 DP NO. K60033
Caliper Dust Rubber & Pin Set Caliper Dust Rubber & Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION aTy

1 K50118 Pin Cap 40x18,5 2
3 2 K50065 Caliper Pin Dust Rubber 2

352102 \ 3 Ks0111__|Pin 35x102MM 1
2. -

1 K50111 Pin 35x102MM

K50113  |Pin Balt 126MM./20%2
K50065  |Caliper Pin Dust Rubber /
K50115  |Caliper Tappet Dust Rubber.

LSS N e Y PR PR XY

;.
i
<
!
ke
w|~|o || s w|n

TH K50116 _|Pin Bush 40x35x77
\ K50117 _ |Pin Bush _ 39x35430
\ | - - K50118 |Pin Cap 404185 @
e T 1 &
=2 &= K50119 _|Pin Ring aDBTx11
N @« )

DP NO. K60034
Caliper Dust Rubber & Tappet Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

DP NO. K60032

Caliper Dust Rubber & Pin Set

1 K50112 Pin 35x60MM 1 1 K50089 Piston Head Circlip 2
2 K50111 Pin 35x102MM 1 2 K50090 Piston Head 2
3 K50258  |Pin Bolt 85MM./20x2 1 3 K50115  |Caliper Tappet Dust Rubber 2
4 K50113 Pin Bolt 125MM./120x2 1
5 K50116 Pin Bush 40x35x77 1
6 K50117 Pin Bush 39x35%30 1
7 K50118 Pin Cap 40x18,5 2
8 K50119  |Pin Ring 40%37x11 2
9 K50065 Caliper Pin Dust Rubber 2

DP NO. K60038 DP NO. K60040 DP NO. K60041 DP NO. K50093 DP NO. K50094 DP NO. K50099
Pin Ring Set Caliper Dust Rubber Caliper Dust Rubber Mechanism Rear - R Mechanism Rear - L Roller Bearing




Duco Meritor Caliper Repair Kits Meritor Caliper Repair Kits Duco

DP NO. K60035 DP NO. K60039

Caliper Dust Rubber

Gasket Cover Set (D Duco Radial)

R RRRRRRRRRRRBRBiRRRRRRiRRRDRDIINNNDNDNDNY
PART NO. DP NO. DESCRIPTION DIMENSION QaTy PARTNO. DP NO. DESCRIPTION DIMENSION aTy
1 K50108 |RubberCap / 7 A 1 1 K50115  |Caliper Tappet Dust Rubber 2
2 K50098  |ActuatorSeal/ 0 /[ 1 2 K50085  |Caliper Pin Dust Rubber 2
9 3 1 3 K50123  |Adjuster Sedl. gy P 1
4 y & 1

o iz @ K50120  |Cover Gasket ___

DP NO. K60036 DP NO. K60042

Roller Bearing Set

Gasket Cover Set (C Duco - Le Duco)

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K50107 Rubber Cap 1 1 K50099 Roiler Bearing 2
2 K50098 Actuator Seal 1 2 K50100 Lever Bush Radial L/IR 2
3 K50123  |Adjuster Seal 1 3 K50102 Roller 2
1 4 K50121 Cover Gasket 1

DP NO. K60037 DP NO. K50120 DP NO. K50121 DP NO. K50122

Gasket Cover Set (D Duco Axial)

Cover Gasket Cover Gasket Cover Gasket
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50107 Rubber Cap 1
2 K50098  |Actuator Seal 1 ‘
1 9 3 K50123  |Adjuster Seal 1 “
CD. e 4 K50122 | Cover Gasket 1
o3

o el

&4 J




Elsa1

DP NO. K60042
Roller Bearing Set

DP NO. K60043
Caliper Dust Rubber & Pin Set

DP NO. K50124
Caliper Lever (Right)

Meritor Caliper Repair Kits

Meritor Caliper Repair Kits

DP NO. K60044
Gear Set -R

Elsa1

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50099 Roller Bearing 2
2 K50100 Lever Bush Radial L/IR 2
3 K50102 Roller 2
PART NO. DP NO. DESCRIPTION DIMENSION QaTty
1 K50126  |Guide Pin(Short) @35 x 72mm 1
2 K50127  |Guide Pin{Long) @35 x 135 mm 1
3 K50128  |Bolt{Short) M20x1,5 x 90 mm 1
4 K50129 Bolt{Lang) M20x1,5 x 150mm 1
5 K50130 Plain Bush @39 x @35 x 30 mm 2
6 K50131 Bronze Oval Bush P40 xP37,3/353 % 325 1
7 K50136  |Steel Cap @44 x 27mm 2
8 K50133 Dust Excluder Retainer @39 % 15 mm 1
9 K50134 Dust Excluder Retainer @40/ 15 mm 1
10 K50135  |Dust Excluder Retainer @48 % 13,5 mm 2
1 K50065  |Caliper Pin Dust Rubber 2
12 K50132  |Caliper Tappet Dust Cover 2

DP NO. K50125
Caliper Lever (Left)

DP NO. K50137

Adjusting Mechanism Clutch System - R

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50140 Caliper Adjusting Gear - R 2
2 K50143 Locking Shim & Slot Set 1
3 K50142 Adjusting Mechanism Slot 2
DP NO. K60045
Gear Set - L
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K50141 Caliper Adjusting Gear - L 2
2 K50143 Locking Shim & Slot Set 1
3 K50142  |Adjusting Mechanism Slot 2

Adjusting Mechanism Clutch System - L

DP NO. K50138

DP NO. K50139

Adjusting Mechanism

DP NO. K50140
Caliper Adjusting Gear -R

- el

L o S—




Elsa1

DP NO. K60046
Caliper Dust Rubber & Pin Set

PART NO.

DP NO.

DESCRIPTION

Meritor Caliper Repair Kits

DIMENSION

QTy

DP NO. K60047
Gear Set-R

1 K50146  |Guide Pin With Bolt End @285 x 85 mm 1
2 K50061 Pin Bolt y /. 150MM./20x1.5 1
3 K50127 Guide F‘in(LW @35 x 135 mm 1
4 K50130 Plain Bush @39 x @35 x 30 mm 2
5 K50147 Rubber Bush &0 % @29 x 27 mm 1
& K50136 Steel Cap WB44 x 27Tmm 2
7 K50065 Caliper Pin Dust Rubber ) 2
8 K50135 Dust Excluder Retainer @48%13.5 mm 2
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50151  |Caliper Adjusting Gear - R 2
2 K50144  |Locking Shim & Slot Set 1
3 K50142 A ing Mechanism Slot 2

DP NO. K50151
Caliper Adjusting Gear - R

DP NO. K50152

Caliper Adjusting Gear - L

—

-
Qb

Cover Gasket

DP NO. K50150

Meritor Caliper Repair Kits

DP NO. K60048

Gear Set - L

PART NO.

1

DP NO.
K50152

DESCRIPTION
Caliper Adjusting Gear - L

Elsa1

DIMENSION aTy

2

K50144

Locking Shim & Slot Set

3

K50142

Adjusting Mechanism Slot

DP NO. K50141
Caliper Adjusting Gear - L

Locking Shim

DP NO. K50145

DP NO. K50148

Cover Gasket

DP NO. K5014¢

Cover Gasket




Elsa2 Meritor Caliper Repair Kits Meritor Caliper Repair Kits Elsa2

DP NO. K60042 DP NO. K60049
Roller Bearing Set Caliper Dust Rubber & Pin Set

1 K50099 |Roller Bearing 2 1 K50179  |Pin 31xB84MM 1
2 K50100 _|Lever Bush Radial LIR 2 2 2 K50180  |Pin 36x144MM 1
3 K50102 _ |Roller 2 352144 &5 3 K50181 |Pin Bolt Q0MM./18x1.5 1
ﬁ 2 R 4 K50182 |Pin Bolt 150MM./18x1.5 1

1 - - 5 K50188 |Bronze Oval Bush @42 X @33,0/31,8x30mm | 1

o Q = - 7 6 K50130 _[Plain Bush @39 x B35 x 30 mm 2

~. -y O - 7 K50184  |Pin Cap 45128 2

-y . .9 “ 8 K50187  |Bolt 20MM./M10x1.25 1

11 = 9 K50185  |Pin Ring 42x37x14 2

8 10 K50065 Caliper Pin Dust Rubber 2

M K50186 |eridge Bolt M16x1,5 x 40 mm 4

DP NO. K60039
Caliper Dust Rubber

DP NO. K60050

Caliper Dust Rubber & Pin Set (Radial)

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K50115 Caliper Tappet Dust Rubber 2

1 K50179 Bin 31x84MM 1

2 K50065 Caliper Pin Dust Rubber 2 2 K50180 Pin 35x144MM 1
3 K50181 Pin Bolt 90MM./18x1,5 1

4 K50182 Pin Bolt 150MM./18x1,5 1

5 K50065  |Caliper Pin Dust Rubber 2

5 K50115  |Caliper Tappet Dust Rubber 20MM./M10%1,25 2

7 K50183 Pin Bush 42x31/33x45 1

8 K50130 Plain Bush @39 x @35 x 30 mm 2

g K50184  |Pin Cap 45x28 2

10 K50185  |Pin Ring 42x37x14 1

DP NO. K60040 DP NO. K60041 DP NO. K50099 DP NO. K50107 DP NO. K50153
Caliper Dust Rubber Caliper Dust Rubber Roller Bearing Rubber Cap Mechanism Assy (W/Bush)

DP NO. K50154
Mechanism Assy (W/Bearing)

WHITTT | g 1T

|
|




Elsa2

DP NO. K60051
Caliper Dust Rubber & Pin Set

DP NO. K60052

Caliper Dust Rubber & Pin Set

2

M1

'\'IMI
ARL

-
e 9 -
cg O

140 2
6

DP NO. K50155
Mechanism Set

2
2
o

70

PART NO. DP NO.

DESCRIPTION

Meritor Caliper Repair Kits

DIMENSION

QTy

1 K50189 Pin 33/35x66MM 1
2 K50190 Pin 35x128MM 1
3 K50061 Pin Bolt 150MM./20x1,5 1
4 K50196 Pin Bolt B88MM./20x1,5 1
5 K50186 Bridge Bolt 16x1,5 x 40 mm 4
3] K50187 Bolt I &wm 0x1,25 1
7 K50065 Caliper Pin Dust Rubber 2
8 K50115 Caliper Tappet Dust Rubber 2
) K50130 Plain Bush 32@35 % 30 mm 3
10 K50184  |Pin Cap 45x28 2
11 K50187  |Pin Ring 420353 2
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50186  |Bridge Bolt M16x1,5 x 40 mm 4
2 K50065  |Caliper Pin Dust Rubber 2
3 K50202  |Tappet Dust Excluder s
4 K50184  |Pin Cap 45128 2
5 K50198  |Seal 1
] K50107 Rubber Cap 1
7 K50197  |Pin Ring 42x35¢3 2

DP NO. K50156

Mechanism Cover (W/Bush)

T

T

DP NO. K50157
Mechanism Cover (W/Bearing)

Meritor Caliper Repair Kits

DP NO. K60053
Caliper Dust Rubber Set

PART NO. DP NO.

DESCRIPTION

Elsa2

DIMENSION QTy

1 K50115 Caliper Tappet Dust Rubber 2
2 K50200 Piston Head 2
3 K50201 Piston Head Ring D34 x 6,5 mm 2
3 ¢
Caliper Dust Rubber
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50115  |Caliper Tappet Dust Rubber 2
2 K50065  |Caliper Pin Dust Rubber 2
3 K50199  |Seal 1
4 K50107 Rubber Cap 1

DP NO. K50158
Adjusting Mechanism Cap

DP NO. K50159
Caliper Adjusting Mechanism

DP NO. K50162

Adjusting Gear
|

ié

195MM




Elsa2

Meritor Caliper Repair Kits

Meritor Caliper Repair Kits Elsa2

DP NO. K50176
Manual Adjusting Gear - R Manual Adjusting Gear - L

T R
Sy T RN
L e

DP NO. K60055
Bush & Seal Set

DP NO. K50170

DP NO. K50178
Lever Radial

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
K50171  |Teflon Bushing / ) 2
er L 2

DP NO. K50163

DP NO. K50164
Mechanism Assy Radial

Mechanism Cap Radial

T

DP NO. K50165 ||

Adjusting Gear Radial

DP NO. K50167
Lever Axial

DP NO. K50168
Lever Elsa225

e

DP NO. K50169
Lever Elsa195

-_.__________________________

==




Elsa195-225 Meritor Caliper Repair Kits

DP NO. K60056
Caliper Dust Rubber & Pin Set

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50191 |Pin Double Grogve 31%78MM 1
2 K50192  |Pin Double Groove: 35x117MM 1
- 3 K50186 Bridge Bolt * M16x1,5 x 40 mm 4
:% i@ ﬂ 4 K50193  |Bolt 120MM./18¢1,5 1
% =5 . 5 K50194  |Bolt 8OMM./18x1,5 1
| — = = ﬂ 6 K50195  |Bolt | dounax 5 4
! q ﬁ ’ . 7 K50065  |Caliper Pin Dust Rubber \ 2
% =g = 8 K50069  |Pin Bush 39%35x30 2
Jq 1 1‘““’ ) 9 K50188  |Bronze Oval Bush @42 x @‘:‘hm 8% 30 mm 1
= = 10 K50076  |Pin Cap @45 x 1Tmm 2
n 1 K50119  |Pin Ring 40537x11 2

DP NO. K60057

Caliper Dust Rubber & Pin Set

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50191 Pin Double Groove J1x7EMM 1
2 K50192 Pin Double Groove 35x117MM 1
3 K50194 Bolt 8OMM./18x1,5 1
4 K50193 Bolt 120MM./18x1.5 1
5 K50186 Bridge Bolt M16x1,5 x 40 mm 4
B K50188 Bronze Oval Bush 242 x @33,0/31,8 x 30 mm 1
7 K50069 Pin Bush 39x35x30 2
8 K50076 Pin Cap @45 x 17mm 2
9 K50119 Pin Ring 40x37x11 2

2

=

K50065 Caliper Pin Dust Rubber

DP NO. K60040
Caliper Body Cap Set

DP NO. K50099

Roller Bearing

DP NO. K60041
Caliper Dust Rubber

Meritor Caliper Repair Kits Elsa195-225

DP NO. K60058
Caliper Dust Rubber & Pin Set

2 o 4
1 ésm?a\' 2@ - 5’
éms"'"_‘--..,e q . .
% - -y ® - g
\11«?-.1;\9.\4 &= s;-g .‘

DP NO. K60059

Caliper Dust Rubber & Pin Set

PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50191 Pin Double Groove J1xTBMM 1
2 K50192 Pin Double Groove 35x117TMM 1
3 KE0193  [Bolt 120MM./18x1,5 2
4 K50188 Bronze Oval Bush @42 x @33,0/31,8 x 30 mm 2
5 K50069 Pin Bush 39x35%30 2
5] K50065 Caliper Pin Dust Rubber 2
7 K50076 Pin Cap 245 x 17Tmm 2
8 K50119 Pin Ring 40x37x11 2
9 K50186  |Bridge Bolt M16x1,5 x 40 mm 4
PART NO. DP NO. DESCRIPTION DIMENSION QTyY
1 K50191 Pin Double Groove 31:78MM 1
2 K50192 Pin Double Groove 35x117TMM 1
3 K50194 Bolt BOMM./18x1,5 1
4 Ks0193  [Boit 120MM./18x1,5 1
5 K50186  |Bridge Bolt M16x1,5 x 40 mm 4
5 K50115  |Caliper Tappet Dust Rubber 2
7 K50065  |Caliper Pin Dust Rubber 2

DP NO. K50107
Rubber Cap

DP NO. K50155

Mechanism Set

it

! " A .

DP NO. K50158
Adjusting Mechanism Cap




Elsa195-225 Meritor Caliper Repair Kits Meritor Caliper Repair Kits Elsa195-225

DP NO. K60053
Caliper Dust Rubber Set

DP NO. K60060

Caliper Dust Rubber

PART NO. DP NO. DESCRIPTION DIMENSION QaTy PART NO. DP NO. DESCRIPTION DIMENSION aTy

1 K50186 Eridge Bolt M16x1.5 x 40 mm 4 1 K50115 Caliper Tappet Dust Rubber 2
2 K50115 Caliper Tappet Dust Rubber 2 2 K50200 Piston Head 2

=y 3 K50065 | Caliper Pin Dust Rubber. 2 ° 3 K50201  |Piston Head Ring @34 6,5 mm 2
4 1

-
-
-

1

K50107 Rubber Cap y &V 1 °
: & 2D
3 {ry | )

2

DP NO. K60055
Bush & Seal Set

DP NO. K60042

Roller Bearing Set

ju— —
TPE
- i —— 1 53

PARTNO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K50099  |Roller Bearing 2 1 K50171  |Teflon Bushing 2
2 K50100 Lever Bush Radial LIR 2 K50172 Dust Excluder Retainer
3 K50102 Roller 3 K50173 Seal 2

DP NO. K50159 DP NO. K50162 DP NO. K50168 DP NO. K50169 DP NO. K50170
Caliper Adjusting Mechanism Adjusting Gear Lever Elsa22b Lever Elsal95 Lever Radial

-_.__________________________

e o

Mg

DP NO. K50177

Manual Adjusting Gear -R - L




DX195

Meritor Caliper Repair Kits

Meritor Caliper Repair Kits

DX195

DP NO. K60061

- - PARTNO. DPNO. DESCRIPTION DIMENSION TY
Caliper Dust Rubber & Pin Set o i EEUN -
K50211  |Pin 32497-37MM 1
K50212  |Pin 32497-67TMM 1
k50203 |Pin Bolt 85MM./16x1,5 1
K50204  |Pin Bolt 6OMM./16x1,5 1
K50217  |Bolt 20MM /M10x1,5 2
K50224  |Balt 20MM./M12x1,75 2
K50222  |Bolt 30MM./M12x1,75 4
K50223  |Balt |20MM./M8x1.25 2
k50207 Dust Rubber Small 2
K50210  |Dust Rubber Big 2
K50225  |Pin Bush 36x32:55 2
K50215  |Pin Cap (42280 2
K50218  |Cap Bolt 1
K50220 |Gasket 1
K50219 Cap Washer 1
K50221  |Dust Cover A
DP NO. K60062
Caliper Dust Rubber & Pin Set
PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50211  |Pin 32497-37TMM 1
2 2 K50212  |Pin 32497-67TMM 1
32297 3 K50203  |Pin Bolt 85MM./16x1,5 1
3 % o & 4 K50204  |Pin Bolt 6OMM./16x1,5 1
1 \ . 5 K50225  |Pin Bush 36x32455 2
32597 § 4 6 K50215  |Pin Cap 42x28MM 2
1 ®
~ < L
DP NO. K60063
Caliper Dust Rubber & Bolt Set
PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50204  |Pin Bolt 6OMM./16x1,5 1
2 K50203  |Pin Bolt 85MM./16x1,5 1
3 K50215  |Pin Cap 42x28MM 2
4 K50207 Dust Rubber Small 2
5 K50210  |Dust Rubber Big 2

DP NO. K60064

Caliper Dust Rubber & Bolt Set

3 - 0
> 509
113358 48

DP NO. K60065

Caliper Shaft Set

DP NO. K60066
Plate Set -R

PARTNO. DPNO. DESCRIPTION DIMENSION aTy

1 K50217  |Bolt 20MM./M10x1,5 2

2 K50224  |Eolt 20MM /M12x1,75 2

3 K50215  |Pin Cap 42x2B8MM 2

4 K50207 Dust Rubber Small 2

5 K50210 Dust Rubber Big 2

] K50222 Bolt J0MM./M12x1,75 4
PARTNO. DPNO. DESCRIPTION DIMENSION QTyY

1 K50245 Roiler Bearing 1

2 K50246 Roller Bearing @52 / @46 x 20 mm 2

3 K50248 Eccentric Shaft 1
PARTNO. DPNO. DESCRIPTION DIMENSION QTy

K50229 Calibration Bolt - R 2

K50235 Piston Screw M10x1,5 x 20 mm 2

S 3 K50236 Push Plate 1




DX195

DP NO. K60067
Plate Set - L

DP NO. K60068
Gear Set

DP NO. K60073
Lever Bush Set

000
=R

PART NO. DP NO.

Meritor Caliper Repair Kits

1 K50234 Gear

1 K50230 | Calibration Bolt 4L Py 2

2 K50235  |Piston Screw/ 0 /[ M10x1,5 x 20 mm 2

3 K50236  |Push Plate 1
PARTNO. DPNO. DESCRIPTION DIMENSION QTY

2 50233 Fork Gear

DP NO. K60074
Shaft Rubber Set

00O
OO

DP NO. K50227
Caliper Tappet Set-R

Meritor Caliper Repair Kits

DP NO. K60069
Adjusting Mechanism Set - R

DP NO. K60070
Adjusting Mechanism Set - L

0‘3 @Oz

DP NO. K50228

Caliper Tappet Set - L

PARTNO. DPNO. DESCRIPTION

DX225

DIMENSION aTy

1 K50237 Adjusting Mechanism Right 1
2 K50239 Washer 2
3 K50241 Calibration Bolt 1
4 K50242 Spring 1
] K50240 Clamp 2
6 K50243 Ring 2
PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K50238  |Adjusting Mechanism Left 1
2 K50238  |Washer 2
3 K50241 Calibration Bolt 1
4 K50242  |Spring 1
5 K50240  |Clamp 2
6 K50243 Ring 2

DP NO. K50229
Calibration Bolt - R

DP NO.

K50230

Calibration Bolt - L




DX195 Meritor Caliper Repair Kits DX195 Meritor Caliper Repair Kits

DP NO. K60071
Caliper Shaft Ball Bearing

DP NO. K60076

Caliper Shaft Housing Set - L

PARTNO. DPNO. DESCRIPTION DIMENSION

1 K50244 Shaft Bearing 1 1 K50231 Shaft Housing 163mm
2 K50220  |Gasket 2 K50228  |Caliper Tappet Set- L
1111 . 3 k50222 |Bolt 30MM./M12x1.75 2 3 50233 |Fork Gear
4 K50234 Gear

) . @l ®
%:?i’ ’O : I-;,o @i

DP NO. K50231

DP NO. K60072

Roller Bearing Set Shaft Housing ~ 163mm

DP NO. K50236 DP NO. K50245
Push Plate Roller Bearing

PARTNO. DP NO. DESCRIPTION DIMENSION

1 K50245 Roller Bearing
2 K50246 Roller Bearing @52 | @46 x 20 mm
3 K50249 Bearing Outer @72/ B68 x 28 mm

DP NO. K50250
Spline Shaft Adjusting Rod

DP NO. K60075
Caliper Shaft Housing Set - R

K50233 Fork Gear
K50234 Gear

PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50231 Shaft Housing 163mm 1
Ks0227 Caliper Tappet Set- R 2
1
1

Bl |k




DX225 Meritor Caliper Repair Kits Meritor Caliper Repair Kits DX225

DP NO. K60065 DP NO. K60068

Caliper Shaft Set Y & N Gear Set
PART NO. DP NO. DESCRIPTION DIMENSION QTyYy PART NO. DP NO. DESCRIPTION DIMENSION QaTy
1 K50245  |Roller Bearing / ) 1 K50234  |Gear 1
2 K50246  |Roller Bearing /[ @52 / @46 x 20 mm 2 2 K50233  |Fork Gear 1
3 K50248  |Eccentric SH y - 1

DP NO. K60066
Plate Set-R

DP NO. K60069
Adjusting Mechanism Set - R

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTyY

1 K50229 Calibration Bolt - R 2 1 K50237 Adjusting Mechanism Right 1

2 K50235 Piston Screw M10x1,5 x 20 mm 2 K50239 Washer 2

3 K50236 Push Plate K50241 Calibration Bolt 1

K50242 Spring 1

K50240 Clamp 2

K50243 Ring 2

Plate Set - L

PART NO. DP NO. DESCRIPTION DIMENSION QTy PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K50230 Calibration Bolt - L 2 | N ~ 1 K50238 Adjusting Mechanism Left 1

2 K50235 Piston Screw M10x1,5 x 20 mm 2 2 K50239 Washer 2

3 K50236 Push Flate N 3 K50241 Calibration Bolt 1

4 K50242  |Spring 1

| y .= K50240 Clamp 2

& \ K50243 Ring 2




DX225

DP NO. K60071

Caliper Shaft Ball Bearing

@il

DP NO. K60072

Roller Bearing Set

S20

DP NO. K60073
Lever Bush Set

=]l
=j=

Meritor Caliper Repair Kits

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50244  |Shaft Bearing / ) 1
2 K50220 Gasket y 4 4 1
3 K50222 Baolt J0MM.MM12¢1.75 2
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K50245 Roller Bearing 1
2 50246  |Roller Bearing @52 | @46 x 20 mm 2
3 K50249 Bearing Outer @72 | @68 x 28 mm 1

DP NO. K60074
Shaft Rubber Set

O00O
OO

DP NO. K50227
Caliper Tappet Set-R

DX225

Meritor Caliper Repair Kits

DP NO. K60075
Caliper Shaft Housing Set - R

PARTNO. DPNO. DESCRIPTION DIMENSION QTy
1 K50231 Shaft Housing 163mm 1
2 K50227 Caliper Tappet Set-R 2
3 K50233 Fork Gear 1
4 K50234 Gear 1
Caliper Shaft Housing Set - L
PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K50231 Shaft Housing 163mm 1
2 K50228  |Caliper Tappet Set- L 2
3 K50233 Fork Gear 1
4 K50234 Gear 1

DP NO. K50228
Caliper Tappet Set - L

DP NO. K50229
Calibration Bolt - R

DP NO. K50230
Calibration Bolt - L




DX225

DP NO. K60077

Caliper Dust Rubber & Pin Set

PART NO. DP NO

DESCRIPTION

DIMENSION

Meritor Caliper Repair Kits

QTy

35%60MM 1
2 K50214 35%102MM 1
3 K50205 M18 x 2,5 x 55,8 mm 1
4 K50206 M18 x 2.5 x 90 mm 1
5 K50217 20MM.IM10x1,5 2
6 K50224 Bolt 20MM./M12x1,75 2
7 K50222 Bolt J0MM./M12x1,75 4
8 K50223 Bolt MM./MBx1,25 2
9 K50208 Dust Rubber Small 2
10 K50209 Dust Rubber Big ‘ 2
11 K50226 Pin Bush @393 5 x 50 mm 2
12 K50216 Pin Cap %31 2
13 K50218  |Cap Bolt 1
14 K50220  |Gasket 1
15 K50219 Cap Washer 1
16 K50221 Dust Cover

DP NO. K60078

Caliper Dust Rubber & Bolt Set

,1/;*,, 3
S

>
S

PART NO. DP NO. DESCRIPTION DIMENSION
1 K50205  |Bolt{Short) M18 x 2,5 x 55.8 mm 1
2 K50206  |Bolt{Long) M18 x 2,5 x 90 mm 1
3 K50216  |Pin Cap 42x31MM 2
4 K50208  |Dust Rubber Small 2
5 K50209  |Dust Rubber Big 2

DP NO. K50232
Shaft Housing 169mm

DP NO. K50236
Push Plate

DP NO. K50245

Roller Bearing

%

Meritor Caliper Repair Kits

DP NO. K60079
 Caliper Dust Rubber & Bolt Set

DX225

PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K50217 Bolt 20MM./M10x1,5 2
2 K50224 Bolt 20MM.MM12x1,75 2
3 K50216 Pin Cap 42x31MM 2
4 K50208 Dust Rubber Small 2
5 K50209 Dust Rubber Big 2
[ K50222 Bolt 30MM.MM12x1,75 4




MARK(II-111)

Haldex Caliper Repair Kits

Haldex Caliper Repair Kits MARK(II-III)

DP NO. K80014

Caliper Dust Rubber Set

PARTNO. DP NO. DESCRIPTION DIMENSION aTy

1 K70046 Pin 35x69MM 4
@,.s\ 2 K70047  |Pin Bolt v 4 F 52MM./10x2 4
Bas 2 3 K70030 _|Caliper Pin Dust Rubber(Red) 8
|?$ — ;:'.‘ ‘ e 4 K70033 Bush ' 4
% M . ’e 5 K70048  |Pin Cap 58x40 2
@y \;"“ ‘ . ‘ & K70036 |Rubber Cap " A 2
[e 1] - ‘ 7 K70035  |Pin Cap 12.5 4
% {rgu — - 8 K70049  |Pin Ring " 4 425364 8
NS .\(. -
DP NO. K80013
Cap Set
PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K70009  |Adjuster Bolt 2
2 K70036  |Rubber Cap 2
3 K70037  |Adjusting Bolt Seal 2
. 2
e e k4
Calibration Bolt
PARTNO. DP NO. DESCRIPTION DIMENSION QaTy
1 K70006  |Calibration Bolt 1
2 K70007 Washer 1

DP NO. K80009
Calibration Bolt

DP NO. K80007
Dust Rubber Set

3

.2
£ £

DP NO. K80004
Caliper Bridge Assembly \n_

PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K70004 Calibration Bolt 1
2 K70005 ‘Washer 1
PART NO. DP NO. DESCRIPTION DIMENSION QTY
1 K70027 Tappet Dust Cover &7mm 2
2 K70036 Rubber Cap 1
3 K70030 Caliper Pin Dust Rubber (Red) 6
PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 1 K70040 Bridge Assembly 1
2 K70041 Washer 1
) B K70042 Washer 1
4 K70043 Spring 1
il K70044 Washer 1




MARK(lI-IIl) Haldex Caliper Repair Kits Haldex Caliper Repair Kits MARK(II-III)

DP NO. K80001
Dust Rubber Set

DP NO. K70004 DP NO. K70022
Calibration Bolt Caliper Mechanism Ring

PART NO. DP NO. DESCRIPTION DIMENSION QTy

1 K70026  |Protection Sprind =
2 K70027

DP NO. K80006 DP NO. K80012

Pad Retainer Adjusting Mechanism

N

DP NO. K70001 DP NO. K70002

Lever Roller Bearing

>

T




MARK(IV) Haldex Caliper Repair Kits MARK IV Haldex Caliper Repair Kits

DP NO. K80015 DP NO. K80018
Calibration Bolt & Tappet Dust Rubber Set

PART NO. DP NO. DESCRIPTION DIMENSION QaTy

1 K70029 Protection Spring 2
2 K70028 Tappet Dust Cover 78,5 mm

1 K70051 Calibration Bolt (Left) 1
2 K70050  |Calibration Bolt (Right! 1

DP NO. K80016
Caliper Dust Rubber & Pin Set

DP NO. K70023 DP NO. K70024 DP NO. K70025
Caliper Mechanism Ring Dust Rubber Protector Spring Adjusting Mechanism Shaft

PARTNO. DP NO. DESCRIPTION DIMENSION QTy
1 K70046  |Pin 35x69MM 4
1 2 K70052  |Pin Bolt M14x 2 x 61 mm 4
35%69 @ 2 ‘ 7 3 K70033  |Bush 4
%‘- ey . ‘ 4 K70036  |Rubber Cap 2
% ~ ; . ‘ 5 K70049  |Pin Ring 42x36%4 8
- O 5O ‘ . 6 K70053  |Pin Cap 256 x 12 mm 4
Q \ - e ‘ 7 K70030 Caliper Pin Dust Rubber (Red) 8
e o ,
N~e, 0 & _@g
P
DP NO. K80017 DP NO. K30006
Caliper Cover Pad Retainer
PARTNO. DP NO. DESCRIPTION DIMENSION aTy

1 K70054  |Cover 1
2 K70055 Screw M8 x 60 mm 1




MODULX-GEN1 Haldex Repair Kits Haldex Repair Kits MODULX-GEN1

DP NO. K80001 DP NO. K80003

Dust Rubber Set Caliper Cover
1 K70026 Protection Spri@ 1 K70038 Cover 1
2 KTo027 Tappet Dust Cover G7mm 2 K70039 Screw M8 x 30 mm 4
> 1 g
\“*{! ,';’ ‘!(\‘“4’“‘. ,r )
8 8
2
DP NO. K80002 DP NO. K80004
Caliper Dust Rubber Set Caliper Bridge Assembly Kit

1 K70040 Bridge Assembly

1 K70031 Pin 35x63MM
1 . K70032 Pin Bolt A2MM./14x2
. K70030  |Caliper Pin Dust Rubber (Red)
l | ! m \ 3—.

=
| i 1 & {?m& .
NS

S~
5

DP NO. K80005 DP NO. K80006 DP NO. K80012 DP NO. K70001
Caliper Set Pad Retainer Adjusting Mechanism Lever

. _______________________ _{

N

2 K70041 Washer
3 K70042 Washer
4 K70043 Spring

5 K70044 Washer

K70033 Bush

K70034  |Pin Cap
K70035  |Pin Cap 56x12.5
K70036 Rubber Cap

A E AL AR ES

~|o || s |wm

DP NO. K70003

DP NO. K70002
Roller Bearing

Roller Bearing Set

ey




MODULX-GEN1 Haldex Repair Kits Haldex Repair Kits MODULX-GEN1

DP NO. K80007

Dust Rubber Set

DP NO. K70010
Adjusting Mechanism

DP NO. K70012 DP NO. K70021
Brake Lining Plate Shaft

PART NO. DESCRIPTION

Tappet Dust Co .'l
2 K70036 |RubberCap / [
Rubber

3
11111 —

&'s O
DP NO. K80009

Calibration Bolt i
PART NO. DP NO. DESCRIPTION DIMENSION aTy
1 K70004 Calibration Bolt 1
2 K70005 Washer 1

DP NO. K70008 DP NO. K70009 @
Caliper Mechanism Gear Adjuster Bolt 0
- O

DP NO. K70004
Calibration Bolt




MODULX-GEN2 Haldex Repair Kits Haldex Repair Kits MODULX-GEN2

DP NO. K80001
Dust Rubber Set

€ & JiL)

2

DP NO. K80003

Y O N Caliper Cover

PART NO. DP NO. DESCRIPTION DIMENSION Q PART NO. DP NO. DESCRIPTION DIMENSION aTy

1 K70026 Protection Sprig@ 2 1 K70038 Cover 1
2 KTo027 Tappet Dust Cover G7mm 2 1 2 K70039 Screw M8 x 30 mm 4

I

DP NO. K80002
Caliper Dust Rubber Set

DP NO. K80007
Dust Rubber Set

PARTNO. DP NO DESCRIPTION DIMENSION QTy

- : PART NO. DP NO. DESCRIPTION DIMENSION QTy
1 K70031 Pin 35x63MM

1 K70027  |Tappet Dust Cover 67mm 2
K70032  |Pin Bolt 42MM./14x2 2 K70036  |Rubber Cap
K70030  |Caliper Pin Dust Rubber (Red) 3 K70030  |Caliper Pin Dust Rubber (Red) 6

K70033 Bush

K70034 Pin Cap
K70035  |Pin Cap 56x12.5
K70036 Rubber Cap

3

.2
& &

DP NO. K80006 DP NO. K70008 DP NO. K70009 DP NO. K70013 DP NO. K70014 DP NO. K70015
Pad Retainer Caliper Mechanism Gear Adjuster Bolt Lever Calibration Bolt & Tappet Mechanism Gear
\ @ e

A E AL AR ES

~|o || s |wm




MODULX-GEN2 Haldex Repair Kits

DP NO. K80008

Caliper Bridge Assembly

1

08O

PART NO. ! DESCRIPTION DIMENSION Q

Bridge Assembly =

DP NO. K70016 DP NO. K70017 DP NO. K70018
Adjusting Mechanism Roller Bearing Set Roller Bearing Set

DP NO. K70019 DP NO. K70020

Adjusting Mechanism Cap Mechanism Clapm

Haldex Repair Kits MODULX-GEN2




	KNORR SB5(1)
	KNORR SB5(2)
	KNORR SB5(3)
	KNORR SB5(4)
	KNORR SB5SB6(7)
	KNORR SB6SB7(1)
	KNORR SB6SB7(2)
	KNORR SB6SB7(3)
	KNORR SB6SB7(4)
	KNORR SB6SB7(5)
	KNORR SB6SB7(6)
	KNORR SB6SB7(8)
	KNORR SB6SB7(9)
	KNORR SB6SB7(10)
	KNORR SB6SB7(11)
	SN6SN7(1)
	SN6SN7(2)
	SN6SN7(3)
	SN6SN7(4)
	SN6SN7(5)
	SN6SN7(6)
	SN6SN7(7)
	SN6SN7(8)
	SK7(1)
	SK7(2)
	SK7(3)
	SL7SM7(2)
	SL7SM7(3)
	C LISA(1)
	C LISA(2)
	D LISA(2)
	D LISA
	D3(1)
	D3(2)
	D3(3)
	D3（4）
	DUCO(1)
	DUCO(2)
	DUCO(3)
	DX195(1)
	DX195(2)
	DX195(4)
	DX225(1)
	DX225(2)
	DX225(3)
	ELSA1(1)
	ELSA1(2)
	ELSA2(1)
	ELSA2(2)
	ELSA2(3)
	ELSA195-225(1)
	ELSA195-225(2)
	PAN17(1)
	PAN17(2)
	PAN17(3)
	PAN19-1(1)
	PAN19-1(2)
	PAN19-2(1)
	PAN19-2(2)
	MAXX22(2)
	MAXX22
	GEN1(1)
	GEN1(2)
	GEN2(1)
	GEN2(2)
	MARK(2-3)-1
	MARK(2-3)-2
	MARK4(1)



